EDINBURGH TRAM NETWORK-INFRACO CONTRACT

CERTIFICATE OF VESTING OF MATERIALS

This Certificate is for the benefit of City of Edinburgh Council, constituted in terms of the Local
Government etc. (Scotland) Act 1994 and having its principal offices at City Chambers, High
Street, Edinburgh, Midlothian, EH1 1YJ ("“CEC") and relates to the vesting of the Materials and
Parts described in Schedule 1 hereto attached.

We Siemens plc of Faraday House, Sir William Siemens Sguare, Frimley, Camberley, GU16 8QD,
England, in consideration of tie’'s payment to Siemens under the Infraco Contract between tie,
Bilfinger Berger Civit UK Limited, Siemens pic and Construcciones Y Auxiliar de Ferrocarriles S.A.
of the sum of FOURTEEN MILLION, FIVE HUNDRED AND NINTY FIVE THOUSAND AND NINE
HUNDERED AND EIGHTY EIGHT POUNDS (£14,595,988) {exclusive of VAT) on or before 22
April 2011 in respect of the Materials and Parts, hereby warrant and undertake to CEC that:-

1 the Materials and Parts listed in Schedule 1 are supptied pursuant to Clause 6.1 of the
agreed draft Minute of Variation, The Materials and Parts listed in Schedule 2, save for
those Materials and Parts listed in Schedule 1, shall be subject to vesting under
separate vesting certificates which shail be conditional upon payment pursuant to
Clauses 8.1, 8.2 and 8.3 of the agreed draft Minute of Variation;

2 nothing remains to be done to the Materials or Parts to complete the same up to the
point of their incorporation in (i) the Prioritised Works pursuant to the agreed draft
Minute of Variation, and (ii) the On-Street and/or the Off-Street Works (as defined in
the agreed draft Minute of Variation);

3 the Materials and Parts have been set apart from any third party property and stored
at the Siemens warehouse situate at Broxburn (the “Premises”) and have been clearly
and visibly marked, so far as practicable, in order io identify such Materials and Parts
as belonging to CEC ,

4 property in the Materials and Parts (including but not limited to supplies received by us
from a third party for incorporation in the Materials and Parts) is vested absolutely in
us and the Materials and Parts are free from ali Security Interests, encumbrances,
charges or third party rights of any kind and we are able to pass title to CEC in the
Materials and Parts;

85 the Materials and Parts are in every respect in accordance with the requirements of
the Infraco Contract;

6 the Materials and Parts shall at all times after the date of this Certificate be insured by
tie by way of the OCIP Insurances taken out and maintained in full force and effect by
tie for the required term;

7 the Materials and Parts can be inspected at the Premises at any time upon reasonable
notice by tie, CEC or by their duly authorised agents; and

SIE00000393_0001



EDINBURGH TRAM NETWORK-INFRACO CONTRACT

8 we shall not, except for use on the Infraco Works, remove or cause or permit the
Materials or Parts to be moved or removed from the Premises.

We declare that property in the Materials and Parts shall unconditionally vest in CEC in
accordance with the provisions of the agreed draft Minute of Variation upon receipt of the payment
referred to above.

We acknowledge our obligations pursuant to Clause 102.2.1 of the Infraco Contract insofar as they
relate to the Materiais and Parts.

Nothing contained in this Certificate or the Infraco Contract or any payment that may be made to
us in respect of the Materials or Parts shall be taken as any approval by tie, CEC or by their duly
authorised agents that the Materials or Parts are in accordance with the Infraco Contract.

We Siemens plc of Faraday House, Sir Wiiliam Siemens Square, Frimley, Camberley, GU16 8QD,
England engaged under the Infraco Contract by tie Limited for and on behalf as an operating
company of City of Edinburgh Council in consideration of the payment to us of FOURTEEN
MILLION, FIVE HUNDRED AND NINTY FIVE THOUSAND AND NINE HUNDRED AND EiGHTY
EIGHT POUNDS (£14,595,988) by tie warrant that the statements made in provisions 1 to 8 above
are true and correct and that all the actions referred to have been taken.

Executed for and on behalf of Siemens PLC

Authorised Signatory

Altrad Rrandonturgss

Full Name

Dated I\al\(“( (

SIE00000393_0002



EDINBURGH TRAM NETWORK-INFRACO CONTRACT

SCHEDULE 1

SCHEDULE OF MATERIALS AND PARTS TO VEST ON 22 APRIL 2011

The Material and Parts are detailed herein in sheet reference '100415_Inventory
List_Vesting(AEl).xls’.

SIE00000393_0003



Schedule 1

Schedule of Materials and Parts

Siemens Material Location - Inventory Rev: 15-Apr-2011 Exchange rate 0.8175
Subgroup Material Supplier Stor;l:znctation Qty Unit Cu“?:&,;;lalue Custc(:g\;;;/aiue General Remark
N - _ 4
DWE Lifting plant Siemens AG Broxburn. UK 1 unit ested to CEC 22-Apr-2011
OWE Undeifloor wheel lathe Siemens jic iHegenscheidt) Broxburn. UK ! Junit ested to CEC 22-Apr-2011
DWE Washing Plant 3 |Senith Bros & Webb L.td. Edinburgh, UK 1 |unit ested 1o CEC 22-Apr-2011
REL Combined Poles it 372 pcs! (Pieiffer / Siemens plc Broxbum, UK 41jpcs ested 10 CEC 22-Apr-2011
REL Contact Wire {150mm {49.483m| _|Siemens AG Broxburn, UK 18.428|m ested te CEC 22-Apr-201%
REL Control Cabie | 7x2.5mm’}- 52.000m Siemens glc Broxbum, UK 52,500|m esled to CEC 22-Apr-2011
REL Messenger Wire {25,554 mi Siemens AG Broxbum. UK 14,381{m ested to CEC 22-Apr-2011
REL MV Swi Incoming + transformer feeding panet Siemens AG Broxbum. UK - 9ipes ested to CEC 22-Apr-2011
REL OCL Material |Generali Siemens AG Broxbum, UK 84076 kg ested to CEC 22-Apr-2011
REL OCL Material Alu Tubes L=8,0m Siemens zic Broxbum, UK 9.376|m ested to CEC 22-Apr-2011
REL OCL Material Constructions |steel componentsi | Siemens AG Broxburn. UK 4388 pcs ested to CEC 22-Apr-2011
REL QOCL Material Isolators SEFAG Siemens gic Broxbum. UK 447 |pcs ested to CEC 22-Apr-2011
REL Power cable DC 1220mm’i - 8.000m+20.600m Siemens AG Broxbum, UK 31.835|m ested to CEG 22-Apr-2011
REL Power cable DC {400mm’] - 2.500m Siemens zlc Broxbum. UK 2,535 m ested to CEC 22-Apr-2011
REL |Rectifier Transformer o Siemens AG Broxbum. UK Slpes ested to CEC 22-Apr-2611
REL Steaped Poles /451 jics. IEurq-.oIe_s_/ Siemens plc _|Broxbum. UK 25[pcs ested to CEC 22-Apr-2011
REL TSS DC Coupling pane! (bypass) Siemens AG Broxbum, UK 8lpcs ested to CEC 22-Apr-2011
REL TSS DC Disconnector panel Siemens AG Broxburn, UK 8| pes ested to CEC 22-Apr-2011
REL TSS DC REC Incoming & retum cubicle Siemens AG Broxbum, UK 9 pcs ested 1o CEC 22-Apr-2011
REL ___ |TSS DC Rectifier -2 _{Siemens AG . |Broxbum, UK | __9jpcs ested to CEC 22-Apr-2011
REL TSS DC SCD Siemens AG Broxbum, UK 8lpcs vested to CEC 22-Apr-2011
REL TSS DC Track feeder panel cubicle (+depot) _ISjemens AG poail Broxbum. UK - 19, pes vested to CEC 22-Apr-2011
SiG IMU boxes Siemens plc Broxturn, UK 220 pecs vested to CEC 22-Apr-2011
SIG iMU100 Antennas / Loogs I Siemens plc Broxburn, UK 230 Ipcs vested to CEC 22-Apr-2011
SIG fterlocking Airport, New Haven, Ocean Teaninal | Siemens AG = __|Broxbum, UK 3|pes vested to CEC 22-Apr-2011
SIG interlocking S7 Depot East. Dezot West Siemens AG Broxbum, UK 2|pcs vested to CEC 22-Apr-2011
Siemens plc

Mobility Complete Transpoitation
Edinburgh Tram Network
Axe! Eickhom

110415 _Inventory-List_Vesling(AEN.xls
prinled: 15/04r2011 23:46

SIE00000393_0004



Schedute 1
Schedule of Materials and Parts

. . Current . Customer Value | Customer Value
Subgroy| Material e
group Supplier Storage Location Qty Unit (EUR) (GBP) General Remark
- o B —— m— — L] - =
|
SIG Interlocking S7 Hasmarket |Siemens AG Broxbum, UK hE] . vested to CEC 22-Aur-2011
SIG Pgint blocking circuits |PBC} :_Siemens AG Broxburn, UK fif s . vested to CEC 22-Ajir2011
SIG/COM __|Antenna Siemens plc Broxburn. UK il pog vested to CEC 22-Apr-2011
SIG/COM__|Battery Circuit Breakers Siemens plc Broxburn, UK Tipes vested to CEC 22-Anr-2011
SIG/COM__|Coaxiat cable o Siemens pic Broxburn. UK 1llot vested to CEC 22-Agr-2011
SIG/COM _|Deot PABX iteleahones onies ISiemens sl [Broxbum, UK sliot vested to CEC 22-Azr-2011 J
SIG/COM _ [Fibre Optic Cable Siemens zlc Broxbum, UK 1|lol vested to CEC 22-Aur-2011
SIG/COM__|Multicore signalling cable Siemens plc Broxbum. UK 1liot vested to CEC 22-Apr-2011 _ |
SIG/COM _|OLE isolation cabinets Siemens plc Broxbum. UK 7|pcs vested to CEC 22-Apir-2011 |
SIG/COM__|Point Heaters Siemens plc Broxbum, UK B p=a vested to CEC 22-Apr-201%
SIG/COM | Point Machines Siemens pic Broxbum, UK s vested to CEC 22-Agr-2011
SIG/COM__|Radio base station emuirment racks Siemens plc Broxbum. UK Hpos vested to CEC 22-Anr-2011
SIG/COM | Radio base station UPS racks i 3 offi Siemens glc Broxbum. UK s vested to CEC 22-Apr-201 1 S
SIG/COM _|Faik swmimT - Hand Hikds shis g fus vehil Tait Eurcfie Ltd Broxbum, UK 1timi vested to CEC 22-Apr-2011
Siemenrs pic {7 off Broxbum, 1 off
SIG/COM _|Substation chargers i8 pcs| Gorar Dei=it Substation Broxburn. UK Hpas vested to CEC 22-Azr-2011 5
Ashby & 1 off Gogar Depot
SIG/COM  |Substation comms racks 18 gcsi Substation'i Broxbum, UK MNnrs vested to CEC 22-Azr-2011
Siemens plc (4 off Broxbum, 19 off
SIG/CCM T HGE BT Dol 3% of) Ashby| Broxburn. UK s vested to CEC 22-Agr-2011 ~
= T
SIG/COM _|Tramstoa local gower cable Siemens plc Broxbum, UK '.J!.| vested to CEC 22-Apr-2011
| SIG/SCA _|Passenger information dispilays (I Lk i Siemens plc Broxbum. UK 42| vested to CEC 22-A=r-2011 |
Materials £14,595 988 [vested to CEC 22-Apr-2011
unrecovered instaliation, pre-
commissioning, subcontractor site
other £5,407,212 ng, S
costs, own site costs (supervision,
HSE, security, site infrastructure)
Total £20,003,200
Siemens plc
Mobifity Complete Transportation
Edinburgh Tram Network 110415_inventory-List_Vesling{AE!) xis
Axel Eickhom printed 15/04/2011 23:46

SIE00000393_0005



EDINBURGH TRAM NETWORK-INFRACO CONTRACT

SCHEDULE 2
SCHEDULE OF ALL MATERIALS AND PARTS

SIE00000393_0006



Schedule 2
Schedule of Materiais and Parts

Siemens Material Location - Inventory Rev: 15-Apr-2011 Exchange rate 0.8175
Subgroup Material Supplier s toracgu:l'j)r::ta tion Qty . Unit Cust?gjé;lalue Cust?g;;;fa!ue General Remark
DWE Access locks Castell Safery Broxburn, UK set
DWE Battery Charging Equipment HAHN+KOLB Werkzeuze GmbH |Siemens store Berlin 1 !set consists of 2 pieces
T

DWE Benches and Equigment HAHN+KOLB Werkzeugze GmbH _[Siemens store Berlin__ 15 |sets set consists of bench, vice, tool chart |
DWE Cleaning Machines HAHN+KOLB Werkzeuge GmbH Siemens store Berlin__ 2 unit different units !
DWE Comgressor station Kaeser Broxbum. UK  tset !
OWE !Ear:hing equipment for catemary Siemens Siemens store Bertin 1]set I
OWE ___ |Electric Double Grinder _|HAHN+KOLB Werkzeuge GmbH _|Siemens store Berlin 1] unit
DWE Electrical Hand Tools HAHN+KOLB Werkzeuze GmbH _[Siemens store Berlin 1 Iset consits of 13 pieces and accessories .|
DWE |Etectrical measuring devices HAHN+KOLS Werkzeuge CmbH__|Siemens store Beriin 1]set consists of 16 pieces
DWE Foldini machine HAHN+KOLB Werkzeuge GmbH _ [Siemens store Beriin 1]unit
DWE _H-.draulic 7an jacks Abril rail Broxbum, UK _4unit E -
DWE Hudraulic Workshopt Press HAHN+KOLB Werkzeuge GmbH _|Siemens store Berlin 1] unit !
DWE !Ladders_ and Scaffolds HAHN+KOLB Werkzeuge GmbH | Siemens store Berlin . dlset
DWE Lifting plant Siemens AG Broxbum, UK 1 unit vested to CEC 22-Agr-2011 i
DWE ‘Macminder Donfabs & Consitia Broxbum. UK 1 unit |
DWE \Manual Lever Snizs __|HAHN+KOLB Werkzeuge GmbH | Siemens store Berlin | | unit
DWE Mechanical Hand fools HAHN+KOL 8 Werkzeuge GmbH _|Siemens store Beilin 30|set different sets
DWE Mechanical Measuring Devices HAHN+KOLB Werkzeuje GmbH __[Siemens store Beriin 1[set consits of 5 pieces and 2ccessories
DWE Minizrof Rail System Bakerail Broxbum, UK 1 {unit
OWE i Mobite Lifting Eijuiiment HAHN+KOLB Werkzeikje GmbH _|Siemens store Berlin 1]set consits of 24 pieces and accesscries |
DWE Overhead crane Street Crane Stockort. UK 1 {unit
DWE Pallet stacker Siemens plc Broxburn, UK 1[unit . |

Pfaff-silberbtau Verkehrstechnik ' ) ) ) |
DWE Paliet truck GmbH & Co. KG Broxbum, UK 3 unit in container #2 with kfting flant
DWE | Petrol Generator HAHN+KOLB Werkzeujge GmbH _[Siemens store Beriin 2 |unit i - : l
DWE Portable Lizhting Stands HAHN+KOLB Werkzeuze GmbH  [Siemens store Bertin 10 |unit |
DWE |Safer- and site zrotection ejuizment HAHN+KOL 8 Werkzeuze GmbH |Siemens store Berlin 1lset onsists of different eruipment

Siemens plc

Mobitity Complete Transportation
Edinburgh Tram Network
Axel Eickhom

110415_Invenlory-List_Vesting{AE!).xis
printed: 15/04/2011 23:49

SIE00000393_0007



Schedule 2
Schedule of Materials and Parts

General Remark

consists of 10 different units

consists of different equizment

vested 1o CEC 22-Riir-2011

vested to CEC 22-Apr-2011

tool storage, cupboards. safe's cabinets etc.

. . Current
Subgrouy| Material Supplier i
LM | ~Li Storage Location Qy LU
! S————
DWE Scottish Voidmeter |Abtus Broxbum. UK 6 lunit
DWE Semi Automatic Hacksaw HAHN+KOLB Werkzeuge GmbH | Siemens store Berlin_| ! |uait
DWE Service Vehicle. Bogies and Trailors G. Zwiehoff GmbH/Zweiwez GmbH|Leichlingen, DE Isel
DWE Stoz boards, clamzs MC Electronic Broxbum, UK 3 |set
DWE Sump pumps | T&T Pumiss _ Broxbum, UK 1 set
DWE Toolsfor Fibre Glass Works HAHN+KOLB Werkzeuye GmbH | Siemens store Berlin 1 set
DWE _|Tools for Point Machine Maintenance HAHN+KOLB Werkzeuge GmbH Sjemens store Berlin fiset
Pfaft-silberblau Verkehrstechnik I
DWE Tum Table GmbH & Co. KG Pfaff. Enzensfeld, DE # lunit
: ——————
DWE Underficor wheel lathe Siemens gic iHepenscheidt| Broxbum, UK '.!unit
I |
DWE Universal Workshop Lathe HAHN+KOLB Werkzeuze GmbH_ Siemensstore Berlin_| *Lunit
DWE Washinj Plant Smith Bros & Webb Ltd. Edinburgh, UK ! L unit
DWE Waste containers HAHN+KOLB Werkzeuge GmbH :Siemens store Berlin " set
DWE Welding Tools HAHN-+KOLB Werkzeuge GmbH | Siemens store Berlin _ 1 set
DWE \Workshon Fumiture HAHN+KOLB Werkzeuze GmbH _|Siemens store Berlin_| | [sel
DWE Workshoy Furniture Sperrin Metal Broxbure, UK o set
OWE _ |Workshop Piller Drilling Machine = |HAHN+KOLB Werkzeupe GmbH__|Siemens store Bertin T lunit
CWE Total
REL Combined Poles |ttl 372 p=il Pfeiffer / Siemens plc |Ortenberg, DE 316|pcs
REL Combined Poles ittl 372 pcsi |Pleiffer / Siemens plc Broxbum, UK dipcs
| Section 1 (Princes
REL Combined Poles [ttl 372 pcs| | Pfeiffer / Siemens plc___ Streeti ____i5lpcs
REL Contact Wire |150mm’] {49.483m; \Isodraht/ Siemens filc Mannheim. OE 31,055 m
REL Contact Wire ;150mm™ |49.483m; \Siemens AG Sroxbum, UK 18.428|m
REL Control Cable [5x2,5mm’} - 700m l_Siemens e Broxbum, UK i _TOO!rr_\_
REL |Conlrol Cable 1 12x2.5mm? and 4x1.5mm": 700m+isiemens plc Broxbum, UK 750 Im
REL ControlCable /3x4mm‘i 1100m 'Siemens wic Broxbum, UK 1,100 m
REL !Comrol Cable 17x2.5mm?i- 52.000m Siemens gic |8roxbum. UK 52.500!m
T T T
REL Leitung / Cable N2XCH 4x2.5 RE/2,5 0.6/1 kV Siemens glc |8roxbum. UK 100 |m
Siemens pl¢
Mobility Complete Transportation
Edinburgh Tram Network
Axel Eickhom

storage equipment

vested to CEC 22-Apr-2011

vested to CEC 22-Apr-2011

vested to CEC 22-A=r-2011

1104 15_inventory-List_Vesting(AEl.xls
printed: 15/04/2011 23:49

SIE00000393_0008



Schedule 2
Schedule of Materials and Parts

Customer Value
(EUR)

Customer Value
{GBP)

General Remark

ested to CEC 22-Apr-2011

ested to CEC 22-Apr-2011

ested to CEC 22-Apr-2041

esled to CEC 22-Apr-2011

ested to CEC 22-Apr-2011

ested to CEC 22-Apr-2011

ested fo CEC 22-Apr-2011

ested to CEC 22-Apr-2011

ested to CEC 22-Apr-2011

ested to CEC 22-Apr-2011

ested to CEC 22-Apr-2011

ested to CEC 22-Apr-2011

ested to CEC 22-Apr-2011

ested to CEC 22-Apr-2011

ested to CEC 22-Apr-2011

ested to CEC 22-Apr-2011

quipment

ole system (includes several PCs and other

|
Subgroup Materiat 'I Supplier . tora(;:r{;n:ation Qty Unit
REL Medium Voltaje Cable :85mm‘i - 600m Siemens plc Broxbum, UK 617 [m
|REL Messenger Wire 125,554 mi Isodraht / Siemens fic Mannheim, DE 11.193.m
|REL Messenger Wire 125,554 mi Siemens AG Broxbum. UK 14361 m
REL Multifunctional distributicn boards rSiemens plc Broxbum, UK /ipcs
REL MV Swy Incoming + transformer feeding panel ESiemens AG Broxburm., UK Sipcs
REL OCL Material | General} Siemens AG Broxbum, UK 84,076 /kg
\REL QCL Material Alu Tubes L=8.0m Siemens ic Broxbum, UK 9.376[m
\REL__ |OCL Material Constiuctions steel comzonents| Siemens AG Broxbum. UK 4.399|pcs
REL OCL Material Isolators SEFAG Siemens plc _Broxbum, UK 447 ipes
REL Power cable DC +150mm?® - 8.000m+20.600m Siemens AG Broxbura. UK 31.835im
REL Power cable DC 400mm4 - 2,500m Siemens plc 8roxburn, UK 2.535im
REL Rectifier Transformer Siemens AG — Broxbum. UK 9|pes
\REL Stepzed Poles/ 451 pics. Europoles / Siemens gic _ __INeumarkt. DE 272|pes
(REL_____|Stepsred Poles / 451 fics. \Europioles / Siemens plc | Broxburn, UK 25|pes
iREL Steped Poles [ 451 pies. . |Europotes/ Siemens jilc {Seciion 7 IFARRANS} 18ipcs
Section 6 (Gogar
REL Stepzsd Poles / 451 pcs. Europoles / Siemens gic Degotl 85ipcs
Section 6 (Gogar
REL Sterrred Poles / 451 pics. \Eurogoles / Siemens gic Dezot! 51|pcs
|REL TSS DC Coupling panel (bypass) __|Siemens AG - IBroxbum. UK 8|pcs
REL TSS DC Disconnector panel |Siemens AG Broxburn, UK g pcs
REL TSS DC REC Incoming & retum cubicle Siemens AG Broxbum, UK Q:pcs
REL TSS DC Rectifier | Siemens AG _|Broxburn. UK _ Q!pcs
REL TSS DC SCD Siemens AG ____Broxbum, UK S!rpps
IREL  |TSS DC Track feeder panel cubicle (+depot) Siemens AG _|Broxbum. UK ____19pcs
REL Total |
SiG |Control centre hardware (computer. monitors. sw'nciSiemens AG Broxbum. UK 1lpes
SiIG Control centre hardware {W1COS ATT. VICOS Archi Siemens plc |Ashitr-de-la-Zouch, U:-! 11Set
|
SIG Data Manaler vy |Aachen. DE | ilpes
Siemens pic

Mability Camplete Transportation
Edinburgh Tram Network

Axel Eickhom

110415_inventory-List_Vesling{AED) xIs

printed. 15/04/2011 23:48

SIE00000393_0009



Schedule 2

Schedule of Materials and Parts

. . Current 9 Customer Value | Customer Value
Subgrou Materiat Suppt
group upplier Storage Location Qty Unit (EUR) (GBP) General Remark
ISIG MU boxes Siemens glc Broxburn, UK 220lpes vested to CEC 22-Apr-2011
SIG IMU 100 Antennas / Loops Siemenszic Broxbum, UK 230ipecs vested 10 CEC 22-Api-2011
SIG IMU100 onboard ejuipment CAF Irun, ES 27 jone per train
SIG _|IMU100 Receiver CPUBS0 (16 pesi Siemens gic Ashby-de-la-Zouch. UK 21 |pcs
SIG IMU 100 Receiver CPUB50 125 ficsi Siemens AG Braunschwein, DE 24 |pcs
1
|SIG intertocking Aizort, New Haven, Ocean Termina! _|Siemens AG Bioxbum, UK 3pes ested 1o CEC 22-Azr-2011
SIG Interlocking S7 Depiot East, Depot West Siemens AG Broxbum, UK 2lpes ested to CEC 22-Apr-2011
SIG Interlocking S7 Hagmarket Siemens AG Broxbum, UK 1ipcs ested to CEC 22-Apr-2011
i -
SiG _|Multicore signalling cable Siemens wfc — iflot
SIG Panasonic Wide Screen Disptar 103 Barco Gogar Tram Depot. Edl 1|pcs
SIG _ _|Pointblocking circuits {PBCI Siemens AG _|Broxbum, UK L 5Q0ipecs ested to CEC 22-Arr-2011
SIG Point heating control Siemens AG - 6ipes
SiG Radio enuipment for 27 trams CAF lrun. ES 27 one per tram
SIG TPDS onboard comzuter CAF Irun, ES 27 |one per train
SIG Wifi eguipment vy Broxbum, UK 1lset
SIG Total
SIG/COM __ [Antenna Siemens =l¢ Broxbum, UK 1|pes vested to CEC 22-Apr-2011
SIG/COM __|Battery Circuit Breakers Siemens glc Broxburn, UK | 7lpcs ested to CEC 22-Apr-2011
Section 6A (Gogar | |
SIG/COM__ |Battery Circuit Breakers | Siemens pic Degot! 1Epcs
|SIG/COM _ | Cable for goint heaters Siemens ic Broxbura, UK 1liot
[ — |
ISIG/COM | Coaxial cable Siemens plc Broxbum, UK 1! lot vested 1o CEC 22-Apr-2011
Section 6A (Gogar | |
SIG/COM __|Contral centre UPS Siemens pic Dejot} 1 iips
Section 6A (Gogar
SIG/COM _ [Depot PABX Siemens zlc Depots 1. lot
SIG/COM [ Depot PABX itelephones onfyi Siemens glc —re _|Broxburn. UK 1)lot, vested to CEC 22-Apr-2011___
SIGICOM _ |Fibre Opaic Cable Siemens 7ic Broxbum, UK | ot e W PG S5 an-2011_
lSIG.’COM Mechanical Points Indicator DTS Chesterfield, UK 1llot — - =
|SIG/COM _ |Mutticore signalling cable Siemeasglc Broxbum. UK 1_lot vested to CEC 22-Apr-2011
Siemens pl¢
Mobilty Complete Transparlation
Edinburgh Tram Network 110415_Inventory-List. Vesling(AE!).xls
Axel Eickhorn printed: 1510472011 23.49

SIE00000393_0010



Schedule 2
Schedule of Materials and Parts

Subgroup Material Supplier Current . Customer Value | Customer Value
? PRl Storage Location 257 Ll (EUR} (GEP) General Remark
SIG/COM _ NAL boxes Stemens plc |Broxburn, UK 19|pes
|
SIG/COM _ OLE isolation cabinets _|Siemens gic . |Broxbum, UK 7|pes vested to CEC 22 Azr-2011
SIG/COM__ [PointHeaters Siemensgle |Broxbum. UK 16[pes vested to CEC 22-#2r-2011
. ' ) |
SIG/COM__ |Point Machines Siemens k¢ Broxbum, UK i __6B0fpes vested to CEC 22-Agr-2011
| Section 6A {(Gogar e
ISIGICOM_|Point Machines {61 jcs) Siemens glc _ __|Depoty 1ipes
| |Ashby-de-la-Zouch,
SIG/COM JRadio base station ejuizment racks _____ISiemensglc UK 1}pcs stem
|
SIG/COM |_Radio base station ejquigment racks | Siemens pic |Broxbum. UK 3lpes vested to CEC 22-Asr-2011
SIG/COM |Radio base station UPS racks | 3 ofl Siemens pic |Broxbum‘ UK 3lpcs vested to CEC 22-Azr-2011 -
SIG/COM | Radio efuizment for 27 frams IcAF Irun, ES 27 |pes stem
SIG/COM__|Radio Masts _ Tait Euroge Ltd IHuntin don, UK 4|pcs
- —quuntingdon. U8 4 o=..|
SIGICOM _|Radio system - Hand Helds plus chargiers plus vehid T ait Eurose Ltd \Broxbum. UK | Yot vested to CEC 22-Apr-2011
' |
SIG/COM _|Radio system - Control rack Tait Europe Ltd |Ashb yy-de-la-Zouch, UH tiot
| | ||
SIGIC_O_M_l_Radio system - 2 hand held radios incl. batteries an! Tait Euroze ttd / CAF Irun, ES _l ;Iot
SIG/COM | Sgeaker cable ,Siemens pic !Broxbum. UK Aflot
Siemens pic (7 off Broxburn, 1 off |
SIG/COM__| Substation chargers |8 gcs) Gopar Degot Substation) |Broxbum,. UK _Tpcs vested to CEC 22-Ajr-2011
Siemens pic (7 off Broxburm, 1 off |Section 6A {Gogar
SIG/COM__ Substation chargers 8 zcs; Go!ar Dezot Substationf Dejpoti _1pes
Ashby & 1 off Gogar Depot |
SIG/COM__|Substation comms racks |8 fics| Substation| _|Broxbura, UK o _Tipes vested to CEC 22-Apr-2011
Ashby & 1 off Gogar Depot |Section 6A (Gogar
SIG/COM |Substalion comms racks {8 pcs) Substation| . Degol _ipes
| Siemens pic (4 off Broxbum. 19 off | Ashby-de-la-Zouch.
SIG/COM | Tramstoj: efuifiment cabinet (23 offy Ashby) UK 19|pes
Siemens pic (4 off Broxbum, 19 off |
SIG/COM __ . Tramstoji equigment cabinet 123 off) Ashbyi Broxbum. UK | 4lpes vested to CEC 22-Apr-2011 N
SIG/COM__Tramstop ejuizment cable Siemens glc Broxbum, UK | 1}lot
SIG/COM | Tramstop local power cable Siemens #lc Broxbum, UK | 1liot vested to CEC 22-Apr-2011 Lo
SIG/COM Total o - o | —_
|Ashby-de-la-Zouch,
SIG/SCA _ |CCTV Equipment - Cameras, Matrix. Storage. etc [Siemens pic UK 1llot
| Ashby-de-ta-Zouch.
SIG/SCA  |Depot Comms Equipment Cabinets (5 pes) Siemens jlc (UK 5ipcs
|Ashby-de-la-Zouch,
SIG/SCA _ |Maintenance Workstation 2 §€si Siemens plc UK 2|pcs
Ashby-de-la-Zouch.
SIG/SCA __ |ODN Hardware Eguipment Siemens gic UK 1ot
Stemens ptc
Mebilty Complete Transportation
Edinburgh Tram Network 110415_Inventory-List_Vesting{AEl) xis
Axel Eickhomn printed: 15/04/2011 2349

SIE00000393_0011



Schedule 2
Schedule of Materials and Parts

. . Current . CustomerVaiue | Customer Value
| Subgroup Material Supplier | storage Location Qty Unit (EUR) {GBP} General Remark
i Ashby-de-la-Zouch, |
SIG/SCA _|Orerator Workstations 3 m=a1 Siemens glc _ UK 3ipcs
Ashby-de-la-Zouch,
SIG/SCA __|PA Induction Looz (15 k) Siemensplc UK 35|pcs
| Ashby-de-ia-Zouch,
SIG/ISCA_IPA Tramstop Equipment Siemens pic IUK 23|pes
SIG/SCA__|Passeniier Heljs Points {35 jics| Commend _ 35[pes
Ashby-de-fa-Zouch,
SIG/SCA  iPassenger information displays (PID) (3 pes) Siemens pic UK 3lpes
SIG/SCA __ |Passenger information dis olays (PID) (42 pes) Siemens pl¢ Broxbum, UK 42lpcs vested to CEC 22-#5r-2011 _
SIG/SCA P10 pole prototypes ____Siemens pic - _|Broxbum, UK 2ipcs
SIG/SCA %Speakers {Tramstop platfom} (278 pes) Penton R _ 278 ipcs
SiG/ISCA ‘Speakers (Tramstop shekers) (84 pes) Penton 84 |pcs
| | Ashby-de-fa-Zouch, |
|SIG/SCA [ Tramstop: SCADA Eyjuipment Siemens gl UK 23|pes
SIG/SCA Totaf - 1 - .
South Yards,
TRW ACO-drain every 60 meter in émbedded track - Pa BAM Rail S Edinburgh, UK 1i7|pcs
1 | South Yards Storage
TRW Ballast Sleepets - Pos. 200170 |BAM Rail Facility, Edinburgh, UK 990|pcs |
| +Section 8 Gogar
TRW _Ballast Sleepers - Pos. 200170 |BAM Rail IDepot, Edinburgh, UK | 4,089|pcs
Busway, Edinburgh.
I TRW _Ballast Sleepers- Pos. 200170 _BAM Rail UK 455 pes = =
Edinburgh Park Bridge
TRW |Ballast Sleejers - Pos. 200170 |B_AM Rail site, Edinburgh, UK 4,093ipes
| Section 7. Edinburgh,
TRW _IBaIIast Sleepsrs - Pos. 200170 |L1AM Rail S UK 1.441|pcs
Gordon Bow Storage
TRW |Ballast Sleefeers - Pos. 200170 |BAM Rail IFaciI'r_.-__ 90{pcs
South Yards Storage
TRW Flat Bottom Rails {standard| Pos 200020 BAM Rail Facilily, Edinburgh, UK 7.684|m
Section 6 Gogar
TRW Flat Bottom Rails |standard| Pos. 200020 B8AM Rail Degot. Edinbungh. Uk 3.086[m 2 _]
| Edinburgh Park Bridge
TRW Flat Bottom Rails {standard; - Pos. 200020 IBAM Rail 3 Site. Edinburgh, UK 8.804m
TRW |Flat Bottom Raifs |standard] Pos. 200020 IBAM Rail - Section 7, Edinburgh, | 4,886 im
currently in transit
TRW Flat Bottom Rails istandard| - Pos.200020 BAM Rail lacc. to BAMJ 14,670[m
South Yards Storages
TRW _|Grooved Rails Pos. 200030 BAM Rait Facility, Edinburgh, UK 17.010jm
Section 6 Gogar
ITRW Grooved Rails Pos 200030 BAM Rail Depot, Edinburgh, Uk 144lm
| Edinburgh Park Bridge
TRW Grooved Raifs - Pos. 200030 8AM Rail site. Edinburgh, UK 612|m
currently in transit
TRW Grooved Raits Pos. 200030 BAM Rail acc. to BAM| 1.292|m -
Siemens pic
Mobiiity Complete Transportation
Edinburgh Tram Netwark 110415 _Inventery-List_Vesting{AEl).xls
Axel Eickhorn prinled: 15/04/2011 23:49

SIE00000393_0012



Schedule 2
Schedule of Materials and Parts

. . Current . Customer Value | Customer Value
Subgrou Material lie
group ' Supplier Storage t.ocation Qty it {EUR) (GBP) e S ark
South Yards Storage —
TRW Rail Fastenings for =linth track - Pos.200140 BAM Rai Facitiby, Edinbunih, UK 8.766|pcs
curcently in transit
TRW Rail Fastenings for =linth track - P0s.200140 BAM Rait iacc. to BAM} 9.701{pcs
South Yards,
TRW  [Smali material BAM Rait Edinburgh. UK 1{lump sum
South Yards Storage
TRW |S[ecifc Material for Grass Track - Pos. 200250 [BAM Rait Facilizy. Edinbungh, UK 2,705{m
Edinburgh Park Bridge
TRW Specifc Material for Grass Track - Pos. 200250 BAM Rail site. Edinburzzh, UK 244|m
South Yards Storage |
IRW Srecific Material for embedded frack - Pos. 20023 BAM Rail Facilifie, Edinbureh, UK 5.476(m '
) South Yards Storage
[TRW |Transitionrails - Pos. 200290 BAM Rail Facility, Edinburizh. UK 17|sets
Section 6 Gogar |
TRW_____|Transitionrails - Pos. 200290 _ BAM Rait N Dejiot, Edinburgh. Uk | 8lsets
currently in transit |
TRW Transitionrzils - Pos. 200280 BAM Rail 1acc. to BAMI 2|sets : . —
Section 6 Gogar
TRW Tumouts ‘dezot; acc. to aliznment drawings - Pos I BAM Rail | Depet. Edinburmh, Uk 8ipcs _
currently in transit
TRW Tumouts |dezats ace. to alignment drawings - Pos JBAM Rail ¥ __racc. to BAM) ] Slpcs
South Yards Storage
TRW Yumouts imain-line! - Pgs. 200040 BAM Rait Faciliry. Edinburigh, UK| olpcs
currently in transit |
TRW Tumouts {main-ine} - Pos. 200040 BAM Rail a _{racc. to BAMI | 21ipss
TRW Total l
Grand Total = — 47.964,008] 39.210.575
Total 39,210,575
Materials | £14,595,988|vested to CEC 22-Apr-2011
unrecovered installation, pre-
commissioning, subcontractor site
other £5,407,212 ng, '
| costs, own site costs (supervision,
HSE, security, site infrastructure)
Total £20,003,200
Totals by subgroup:
DWE €5.976744 £4.885,988
REL € 17.810,615 £14.560,178
SiG €4,148,118 £3,391,086
SIG/COM €2,064.102 £1.687.403
SIGISCA €2,392.276 £1,855.686
TRW € 15,572,151 £12.730.233
Total € 47,964,006 £39,210,575
Siemens ple
Mobility Complete Transporation
Edinburgh Tram Network 110415 _inventory-Lisl_Vesting(AEl}.xis
Axel Eickhorn punted: 15/04/2011 23:49

SIE00000393_0013



SIE00000393_0014



Details OCL Material

Category swWt AV Description - English Description - German Ordered Unit Supptier
g(cn{ Ma\ena:-General) BWLI013-2 AZV0000020133¢_|Two pin clevis link 13 with pins _|[2Zweiloch-D3poellasche 13 mit Bolzen | 780| ST |Luhaten
- Material i General) 1BWL1016-6 A2V00000201339 _[Two pin clevis link 16 with pins Zweiloch-Doppellasche 16 mit Bolzen 'ha

IOCL Matesial jGenerall Wi 5 et s - 2 351 ST__tluhaten

i n L1018-2 A2V00000201342 | Two pin clevis fink 19 with pins |2weitoch-Doppeliasche 19 mit Boizen 2,300 ST Lu'hafen
'OCL Material [General) WL1023-2 A2V00000201346  |Two pin Strap 13. t=3mm “[Zweltochlasche 13, t=3mm 157 ST liuhafen
OCL Materiat |General) _ BWL1026-5 A2V00000201350_[Two pin strap 16, t=5mm Zweliochlasche 16,t=5mm 16] ST |Luhafen
OCL Material |Genera) _ BWL1028-2 A2V00000201354 _|Two pin strap 18. t=5mm E 2wetochlasche 19. t=5mm 430] ST [Luhafen
%g%;::i; WL1033-2 A2V00000201358_[Three pin clevis fink 13 with p ns Dreitoch-Doooeliasche 13 mit Bolzen 235] ST |Luhafen

Materi ‘| 'WL1036-7 A2V000002¢1363  [Threepin clevis link 16 withpins \Dreitoch-Dopreliasche 16 mit Bolzen 561 ST Lu hafen

OCL ia! (General) BWL1047-3 A2V00000201380 IThree pin connecion sirap, t=5mm IDreiloch-Verbindunigslasche, t=5mm 22/ ST lLuhafen
[OCI. taterial (General) BWL1052-1 DBB:202003X-01__|A2V00000200682 _ Strap 170, offsel [Gekrbotte Lasche 170 15| ST |Luhafen i
OCL Material {General) SWL1058-2 A2V00000201397 _IFour pin cievis link 19 with pins “IViertoch-Dopoellasche 19 mit Boizen 45 ST |Luhafen |
JOCL Material {General) WL1077-70 _1A2V00001020844 _[Damping device clevisieye 16 L=1500 Schalldamofer Gabel/Ose 16 L.=1500 130] ST |Luhafen
10CL Maler!al {Generat) 8WL1078-78 |A2V00001064199 _ [Tumbuckle M20 eye 20/cievis 19 -ty Spannschloss M20 Ose 20/Gabel 19 225] ST Luhafen
|OCL Material [Genera) BWL1086-5A |A2V00001007264 _|Cross-spar tensioning spring 1-3kh |Richtsefifeder 1-3kN. Hub 100mm 100] ST |Luhafen -
OCL Material (Genera 8WL1094-G_DBB157337X-01__|A2V00000201463 _[Dog M16 —|Backenklaue M6 220] ST [Luhafen SR
OCL Material |General) BWL1101-2 |A2V00000201476 | Pin DIN43161-13x40 Bolzen DIN43161-13x40-nrSt 5 ST ‘Lu'haten
OCL Material {General) BWL1104-2 A2V00000201484 ' Pin DIN43161-16x40 . Bolzen DIN43161-16x40-nrSt 10 ST Luhafen _——
OCL Material [General) 8WL1110-0 A2V00000201497 _ Pin DIN43161-19x52 Bolzen DIN43161-19x5 15 |Lu'hafen )
OCL Malerial {General) WL 1110-2 A2V00000201493__IPin DIN43161-19x52 Bolzen 0iN43161-19x52 2.860 T lLuthafen
OCL Material General) BWL712-2 [A2V0000020%507 _|Pin DIN43161-19x100_ = Bolzen DIN43161-19x100 2.860 T Luhafen: e ——]
OCL Material iGeneraii _|8BWE1315-1 [A2V00000201510__[Splt pin ISO1234-5x28-Cu Spiint 1S01234-5x28-Cu = 5760] ST [Luhafen
OCL Material |General) 18WL1115-3 1A2V00000201512 'Splint 1ISO1234-5x28-Al Sphnt 1IS01234-5x28-Al 8 ST [tuvhafen
CCL Material {General} ___18W1.1116-4 |A2V00000201520 | Pit with round head DIN43161-13x55 Botzen mil Rundkoof DINA3161-13x55 12 ST Luhafen
OCL Material ;General) BWLT118-6 [A2V00000201532 | Shackie 10 with threaded pin and spiit [Schaket 10 mit Gewindebolzen und 1a5] ST Luhaten
COCL Material ;General) e 8WL1118-7 |A2V00000201533 | Shackle12 with threaded pin and split Schaket 12 mit Gewindebclzen und - =13, 430 ST \Lu'hafen =5
OCL Material{General) 8WL1128-3_DBB:202025X-03 _ [A2V00001664730 | Spring washer A10.arFSt Profiling A10-nrFSt 330 ST lLuhaten =
OCL Malerial }General) igvmzu DOBB.202025X-0¢ | A2V00000205523 _ Spring washer A2-nrFSt ‘Profiing A12-niFSt E 240] ST Lunafen
OCL Material iGeneral) 8WL1128-5_DBB:202025X-05 A2V00000203235 Spring washer A16-arFSt_ Profi rangT 6-nrESt 820| ST __ [Luhafen
OCL Material Generaly 18WL1138-8 [A2V00000201564 | Cross link clevisiclevis 19 wth pirs [Kreuzlasche Gabel/Gabe! 19 mitBolzen | 161 ST TLuhafen
OCL Material (General 18WL1141-0 1A2v00000201565 [ Pull-off clamp 13-70 for 1 wire Auszugsklemme 13-70 fur 1 Seil 5 ST Itu'hafen
OCL Material (General) l8wL1141-7 1A2V00000201568 | Puil-off clamp 13-150 for 2 wires Auszuasklemme 13-150 fir 2 Seile 10 ST lLuhafen
OCL Material (General) BWL1142-5 |A2V00000201574 | Strap, offset 80 for pull-off clamp __[Gekroepfte Lasche 60 fuer Auszugsklemr 5] ST lLuhafen
OCL Material i(General) 8WL1180-7 |A2V00000201609 | Wedge-lype dead-end clamp miCI 19 Keitendklemme GTW 19 mit Bolzen 1,060 ST ILu'hafen
OCt. Malterial (General) 8WL1201-0_DBB:200207X-02__ |A2V0000C200657 _ One-hole wedge Einlochkeit 100 ST [Luhalen
OCL Malerial (General) 8WI.1202-0 DBB:200207X-03 | A2V00000200658 _ ITwo-hote wedge Zweilochkeit 470 ST |Luhafen
OCL Material (Generali 18WL1202-3 |A2v00000201635 _ |Speciat wedge 50 for steel wire S0mm?2 Sonderkeil 50 fir Stahiseil SOmm? 5501 ST |Liuhafen
OCL Materal (General} '8WL1214-0 1A2v00000201651 _[Cene-tvoe dead-end ctamp 19-120 'Konus-Abspanr 19-120 110 ST ltuhafen
OCt Materal (General} 18WL1237-2_DBB:200210A 1A2V00000200661 | Cene-tvpe dead-end ciamp 19/AC-120 Konus-Abspannklemme 19/AC-120 150 ST Lu'hafen
OCL Material (General) |8WL1501-0 0BB:200111X-03  [A2V00000200638 | Thimble DIN43154-35, E-Cu Kausche DiN43154-35, E-Cu 150 ST ILuhafen
OCL Material (General) 8WL1501-1_DBB:200111X-04 __[A2V00000200638 | Thimble DIN43154-35, Stainiess steel Kausche DiN43154-35, niSt 1.200 ST ILuhafen
OCL Material {General) 8WL1502-0_DBB:2001T1X402 'A2V000f)0200§37 |Thimble DIN43154-50, E-Cu |Kausche DIN43154-50, E-Cu 100 ST ILuhafen
OCL Material {General} 8WL1515-0 [A2v00000201732__|Insulted thimble 10, Polypropylen |Isolieskausche 10f. Polypropylen 7,000 ST Luhafen
OCL Material (General, BWL1516-2 1A2V00000201735 _[Thimble 8, Stainless stee! Kausche 8, nrSt 3,805 ST Lu'haten
OCL Material .Generalk 8WL1520-0_DBB:200107X-01 _ |A2V00000200630 | Crimped connector 10f-20. E-Cu Kerbverbinder 10f-20. E-Cu 7.000 ST Luhafen
OCt Material [General. _|BWL.1522-0_DBB:200107X-03  |A2V00000201746 _|Crimped connector 26-55, E-Cu Kerbverbinder 25-55, E-Cu 40 ST lLuhafen ]
OCL Material {General! 8WL1524-1 DBB:200107X-04 [A2V00000201751 ICrimped connector50-90. E-Cu Kerbverbinder 50-90, E-Cu 80 ST lLuhafen
OCL Material |General} BW11553-0_DBB:200107X-06 _ |A2V00000200635 _|Compression joint for wire 16f-20 |Pressverbinder 16f.20, nrSt 1,200 ST ___Luhafen _ ‘i
OCL Material |General} 8WL 1580-1 LA2V00000201771 !Cable lug DIN46235-12-70-E-Cu |Kabelschuh DIN46235-12-70-E-Cu 13 ST |Nexans 1824407
OCL Material iGenerall BWL1601-2 |A2V00000201801 [ Protection sleeve 35-80 [ Schutzhiilse 35-8C 5 ST Luhafen 1
OCL Material (General}: BWL1604-3 DBB:200104X-12  |A2V00000200623  Sleeve 70t/95-80, E-Cu ISchutzhizise 70/95-80, E-Cu 50 ST \Luhafen |
OCL Material{General} 8WL16044 {A2V00000201815 _Sleeve 95{-80. E-Cu Schutzhtlse 95{-80. E-Cu 1501 ST ILuhafen
OCL Matenial {General] BWL 1606-0 A2V00000201823 _ Protection sleeve 120-70, Cu-ETP |Schutzhilse 120-70, Cu-ETP 20 ST Luhaten
OCL Material{General: 8WL1606-1 [A2V00000203824 _|Steeve 120-130, E-Cu Schutzholse 120-130, E-Cu 20 ST Jwhafen |
OCL Material {General} 8WL.1614-0_D8B:100202X-01 _|A_2V00000200447 IS_t_e_eve 50-130. Alcu ISchutzhulse 50-130. Alcu 25 ST Luhafen
OCL Material (General) 8WL1650-3 1A2V00000201853 I Compression ciamp 8 Pressklemme 8 3,800 ST Luhaten
CCt Material (General) 8WL2006-0A A2V00001391603 'Swivei clip holder 55-16R [Kiemmenhalter 55-16R__ 45 ST luhafen
[OCL Material (General) 8WL2007-1 A2V00000201868 _|Swivei ciip holder 26 . Kiemmenhalter 26 100 ST Luhafen
OCL Material (General) 8W{2037-3 _[A2V00001139307 _ [Catenary wire support clamp 55/18 [Tragseiidrehklemme 5616 iscliert 600 ST Luhafen
OCL Material {Generali 8WL20826 _A2VG0000201943 _|Conductor suspension clamp 16-16 with |Tragkiecme 16-16 mit Kauschenhaken 15 ST Luhafen |
OCL Material {General’ 8WL2083-4 1A2V0G000201946 _ IConductor suspension clamp 13 with [Tragkiemme 13 mil Hakenschrauben 40/ ST Luhafen
JOCL Materia! {Generals = 8WL2095-0 1A2V50000201853 _IConductor suspension clamp 16-16 with [Tragklemme 16-16 mit Kauscherhaken 40. ST |Lu'hafen ]
OCt Material (General; 8WL2097-0 1A2V00000201956 | Bridle suspension 55-60.3, fixed 'Seilgleiterauthanguna 55-60. 3. 730 ST Luhafen |
OCL Material (General] BWL2097-0B A2V00001828856 | Bridle suspension 70, fixed ISellgleterauthanacno 70, fest 701 ST ILuhaten !
|OCL Material (Generaly 18w 20971 A2V00000201857 | Bridle guiding device 55-60.3 Seilgietterfuhrung 55-60.3 55| ST ILuhafen |

Siemens pic

Mobilily Complete Transportation
Edinburgh Tram Network

Axet Eickhorn

110415 _Inventory-List_Vesting(AE!).xis

printed: 15/04/2011 16:57

SIE00000393_0015



Detai's OCL Material

Siemens plc

B Category WL Azv Description - English Description - German Ordered | Unit Supplier [
OCL Material (Generat 8WL2037-2A A2V00001413976 |Clevisd=17_ Gabel d=17, nrot 121 ST ILuhafen
OCL Material (Gereral 8WL2104-1 A2V00000201978 [Hook end fitting 42, compl Hakenkioben 42, kompl, 250 ST Luhafen
OCL Material |General 8WL2104-2 A2V00000201979 | Hook end fitting 55 Hakenkioben 55 265] ST JLunaten
[OCL Materiai [General) 8WL2114-1_DBB.C596568 A2V00000200150 |Eye clamp 55, compt ‘Osenschelie 55, kompl!, 500 ST Luhaten
OCL Materiai |Genera| 8WL2114-4_DBB.CSS656A A2V00000200149 | Eye clamg 70, compl Osenschelie 70, komgf 160 T Luhafen
CL Material | Gereral “|8WL2115-1_DBB:0596458 A2v00000200123 |E - 2 : - -
gw, _G T ye clamp 55, compl. Augenschelle 55 kompl. 1750 T |tuhafen
o M: e :G;f]\::; ; g\\;VVLZﬂB -0_DBB:059616A A2V00000200124  TEye clamp 70/80. compl. Wuge_nihelle 70180, kompi. 75 ST 'Luhafen
@l ceneralk . _|8WL2116-7A _|A2v00001075434 | Twin drop bracket 42/42 4, compl |Dopeetabzughaiter 42/42.4, kompl. 45 ST |Luhafen
OCL Material ;Generat| 8WL2116-76 A2V00001135581 | Twin drop bracket 55, compl Ooppeiabzughaiter 55, kompl. 160] ST |Luhafen
OCL Material {General _ [swiL2118-1_DBB:059662A {A2Vv0000020C156 | Drop bracket 42, compl. Abzughatter 42, kompi 225] ST [Luhafen
CCL Material ‘General, 8WL2118-2 0BB:0596628 A2V00000200157 | Drop oracket 55 i _|Abzughatter 55 865 ST Ituhafen
JOCL Material (Generat| 8WL2118-2A A2V00001787558 | Drop bracket 70/80 H=70, compl Abzuahaiter 70/80 H=70, Kompl. 140, ST |Luhafen
JOCL Material {Generat} __[8wL2118-48 A2VC0001028697  |Drop bracket 55, compl. Abzughalter 55 kompt 22 ST [Luhafen
[OCL Material {Genera} 8WL2120-7 A2V0000020203C | Clevis end fitting 70, compl. Gslenkaabet 70, kompl 901 ST |Luhafen
OCL Material {Generai} 8WL2121-5 A2V00000202037 | Clevis end fitting 55 Gelenkgabel 55 500, ST |tuhafen -
OCL Material (General) I 8_WL2124—3_ A2V00000202045 Cantilever swive! brackel for fastening Gelenkbock fur Spanntandbefestigung 855 St tu'hafen
OCL Materiai (General) 8WL2124-4_DBB.059850X-01 | A2V00000200272 _|Cantllever swive] bracket Getenkbock. G-Al 30| ST |luhafen
OCL Materiai {General) 8WL2125-1_DBB.059835X-01 _ 1A2V00000200202 |Cantlever Swivel bracket Getenkbock. G-Al 205 St Luhafen
OCL Materiat {General) 8Wi2126-3_DB®:059817X-0t1 _ [A2v00000200188 'Sw:vel with clevis 19, L=62 Orengelenk mit Gabel 13, £=62 2.860 ST Luhaten
OCL Material {General) 8WL2131-0 A2V00000202051 .Pu\lex 88 with suspension, single [Seirrolie 88 mit Aufhangung. einfach 40 ST Lehafen
OCL Material {(General) 8WL2142.8_DBB.058003A A2V00000200063 __|Double eye ctamp for pull-oft Doppeldsenklemme fi Bogenabaug 2| ST ILuvhafen
OCL Material {General) _ FyeT | 8WL2148-5 |A2V00000202095 |HoOK ¢clip 42, compl. [Haxenschelle 42, kompt 279 ST Luhafen
OCL Matenal {General} 8WL2148.6 |A2v00000202096 _|Hook clip 55. compl. a. Hakenschelle 55 kompi 330/ ST Luhafen
OCL Material {General} 8WL2150-0 1A2Vv00000202097  [Cross-span hook clamp for wire 25-50mm? | Hakenkiemme fur Seil 25-50mm? 310 ST Lu'hafen
OCL Material (General} 8WL2158-CA A2V00001020552 | Cross-span eye clamp 25-70 |R!ch($e|E05enk|emme 25- 70 270 ST Luhafen _
OCL Material (General) 8WL2184-3_DBB 202008X-04__|A2V00000200700 ' Endcap55 [Verschiusskappe 55 1800] ST |iuhafen
OCL M 1 (General) 8WL2184-4_DBB 202008X-05 | A2V00000200701 End cap 70 ! Verschlusskappe 70 i 70! 87 Luhafen
OCL Materia! (General) 8WL2184-7_DBB:202008X-07  1A2vV00000200703 |End cap 42 Verschlusskaope 42 260] ST Luhafen
OCL Maleriat (General) 8WI_2196-3 A2V00001028684  |[Hook clip 42-8C for U-boit M16 Hakenschelle 42-80 fuer 598 ST Luhafen
OCL Materiat (General) 8WL.2201-0 A2V00000202154 _|Clevis end fitting for connection with Getenkgabel fur fsofatoranschiu 1.820 ST Luhafen
OCL Material (General) 8W1L2205-0 ____A2v00000202156__|Cennector sieeve 70 _.Rohradaoter 70 160 ST |Luhafen
'OCL_Materiai iGeneral) 18WL220€ -0 A2V00000202168 |Cennector sieeve 55 Rohradapter 55 2.080 ST Luhafen
OCL Material iGeneral) [swt2210-0 A2Vv00000202160 _|Joint clew:s for twin tube Gelenkgabel fiar Doppelroht 2101 ST Luhafen
OCL Material iGeneral} 8WL2214-0 [ A2v00000202163 ' Twin tube clamp 55-70 IDoooelrohrschelie 55-70 | 1.330 ST Lu'hafen
OCL Material i General) 8WL2215-0 [A2V0(000202164  Twin tube clamp 55-70 with eye |Doppelrohrschelie 55-70 mit Auge 235 ST Luhafen
OCL_Materiaf | General) 8WL2216-0 A2V00009202165  Twin tube clamp 55-70 with double eye [Doppelrohrschelle 55-70 mit Doppelauge 100 ST Luhafen
OCL MateriatiGeneral) 8WL2723-1 A2V00001159666 Dropbracket 48.3-60.3 H=70/30 compl. Abzughalter 48,3-60,3 H=70/90 komp! _ 5] ST Luhafen
OCL Materia} {General) 8WL2810-0 A2v00000202128 |GRP Roundrod 26 RAL1020 L=8m GFK-Rundstab 26 RAL1020 L=8m _ 104 M Lu'hafen
OCL Materiai{General) 18WL2813-0 /A2V00000202206 |GRP Round rod 55 RAL1020 L=8.0m GFK-Rundstab 55 RAL1020 L=8,0m 80 M___|Luhafen
JOCL Materia! {General) 18W12815-0 A2V00000202212 IGRP Oval rod 23x33 RAL1020 L=6.0m GFK-Ovalstab 23x33 RAL1020 L=6.0m 1.768] M tuhaten
OCL Mater:al {General) 18Wi.2832-5 1A2v00001019226 IFLmng 26 witheye 17 — _Huelse 26 mit Auge 17 30 ST |tuhafen
OCL Material (General) '8WL2832-7 A2V00000202245 _ Filting 26 with clevis d= 17 rHulse 26 mit Gabel d=17 30 Sl Lu'hafen
OCL Material (General) 8W1.2833-0 A2V00000202247 Hook end clamp for GRP rod 23x33,compl. {Hakenkioben fir GFK-Stab 23x33, kompll 2751 ST Luhafen
OCL Material (General} 8W1.2833-1 A2V00000202248 Swiveiclip holder 16R f.GRP rod 23x33 IKlemmenhaiter 16R fOr GFK-Stab 23x33 | 1.935| ST Luhafen
OCL Material (General) 6WL3001-2 A2V00001220610 |Locpinsulator 1.5kV DC. | Schlingenisolator 1.5xV DC 1.480! ST Luhafen
OCL. Materiat (General) 8WL3021-3C A2V00001054719 _linsulating rod 26 c/c 16 RAL1020 L=2000 LIsotierstab 26 G/G 16 RAL1020 L=2000 26 ST Luhafen
OCL Materiat(General) _ BWL312O S A2V00000202454 |Insulat0r body M16/M16 3kV S0kN/IKN Isofierkdroer 3kV_S0KkN/SKkN_M16/M16 2,150 ST Luhafen
OCL M. { (General) T 8WL3122-1 A2V00000202456 | Insuiator body M16/M16 1 5kV DC UIsclierkorper M16/M16 1.5kV DC 22 ST Lu‘hafen
|0CL Materiai (General) |8WL3132-1 1A2V00000202464 [Insualtor body for underbridge support Stutzisclator Form B 18 ST Lu'haten =
OCL Material (General} - - jS_WLSSDBAO . __1A2v00000202507 ,Steady arm L.=775 |Seitenhatter L=775 50 ST Lunafen
OCL Material (General) 8WL3514-C ~TA2V00000202521 |Steady arm with GRP rod 23x33 and - | Seitenhalter mit GFK-Stab 23x33 und _ 22l ST Luhafen
OCL Materiat (General) 8WL3520-2 A2V00000202533 | Bridie-and-pulley suspension with Sedgleuer mit Kunststoffseul d4=8mm 1.140 ST Luhafen
OCL_Material (General) 8WL3521-0 A2V00000202535 _|Rope pulley /Seirrolle mit Osengabe! 290 ST tuhafen
OCl. Materiai {General) 8W1L3521-3 A2V00000202536 _|Pulley insutator R=6 __Rouennso!atol RE6- =l it 12 S tuhafen
IOCL Material {General) _ 8WL35230 ]A2V00000202540 __TPull-off arm [Abzugarm 92 ST Lu'hafen [
[OCL Material (General) 8WL3526-8 AZV00001016572 _[Underbridge and tunnel support for Deckenhatter fur 1 Tragseil bis 185mm? 12 ST |Luhafen
OCL Material {General) 8WL3554-6 A2Vv00001029238  [Line hanger 16R for 1.5kV [Fahrdrahthalter 16R fir 1,5kV 30| ST Luhafen
OCi. Material (Generat) 8WL3575-0 [A2V00000202604 __[Underbridge fastening f.elastic suppost |Deckenbefestiqung fur elast Slatzpunkt 12 ST |Luhafen
OCL Material (Generati ~ |8wL4003-4 A2V00000202642 |STARTING WASHER WC16 DU |Antaufscheibe WC 16 CU 18] ST Lu'hafen
OCL Materiat {General) 8WL4502-0 DBB102107X.71 'A2V00000200456 |Cenductor crossing ¢clamp 50-95 Kreuzstremklemme 50-95 6 ST Lu'hafen
OCL Materiat (General) 8WL4505-3 A2V00000202738 |Cramg 120- 50, Tin bronze J2annklemme 120-150, CuSn 18 ST Lu'hafer
OCL Materiai (General) BWL4505-5 DBB.074242A A2V00000200306 _|Connection cIarqp_ZS-TO \Verbindungsklemme 25-70 18 ST Lu'hafen
OCL Material (General)_ 8WL4505-7_DBB:074246A A2V00000205005 _|Stitch wire ciamp 25-50/35-160 Beiseilklemme 25-50/35-150 150 ST Luhafen
\OCL Materia! (General) BWLA517-1L_DBB:053506-3-A | A2V00001187052 _|Contact wire clip 16R with U-pin__ Fanrdrahtklemme 16R mil Bogelsplinl 1,950] ST __|Luhafen

Mobility Complete Transportation

Edinburgh Tram Network
Axel Eickhom

110415 _laventory-Lisl_Vestng{AEH..xis

printed: 15/04/2011  16:57

SIE00000393_0016



Details OCL Material

Category SWL Azv Description - English Description - German Ordered Unit Supptier
88[ &“iﬁiﬁﬁ\ ﬁcG;Z?ZE’% 5 swusmmn 13_|Contactwice clio MT5 Fahrdrahtkiemme M16 100| ST _|Luhafen
YRR — 8WL4524.18_OBB059321X-72_|A2V00001071270 _|Clamp holder 55 fur wire 50-120mm* Klemmenhalter 55 fir Seil 50-120mm? 10| ST __|Luhafen
OCL Material (General) B8WL4536- - A2V00000202827 | Paraliel groove clamp 22 Stegklemme 22 70 ST |Luhafen
OCL Malerial (Generai) S8WL4537-2 A2V00000202828 | Paratel groove clamp35 Stegklemme 35 86| ST |Luneten
[OCL Material (General) 8WLA578-2 A2V00000202881 | Paraliel groove clamp 120-185 B | Stromilemme 120-185 120 ST [Luhafen
OCL Material (Generat) BWL4581-0_ - /A2V00000202891 | Paralief groove clamp 150 | Stromkiemme 2x150 Ol —aT |Lohaten
OCL Malerfal (Generat) BWLA581-2_ A2V00000202893 | Conductor clamp 95¢-150f/120-185 Fiﬂklemme 95¢-1501/120-185 . 750] ST Luhafen
OCL. Mateffal {General} 8WL4583-0 A2V00000202902 | Feeder clamp 120f/Ri80-150 for small Spei me 120f/RiBC-150 bei geringe 750 ST Lu'hafen
OCL Material {General} BWLA601-7 A2V00000202963 _|Spacer sleeve D18/12x16 Distanzsohr D18/12x16 80] ST |.whafen
OCL Material {General] 8WL4612-0 A2V00000202577 | Shding dropper clip for catenary Gleithangerkiemme for Tragsel 40 Luhafen
OCL Ma\er{al :Generali 8WL4620-0 DBB:07421281 A2V00000200282  |Dropper clip 50 Hén_genuemme 50 1 | 3.500 Lu'hafen
OCt. Materfal |General} 8WL4621-3 A2V00000202898 |Dropper sirap d=12.5 |Authangebuigei d=12.5 80 tu'hafen
OCL Material |Generall BWL4622-4A _______|A2Vv00001013250 _|Groove clamp for wires up to 25mm? Schiitzklemme fir Seiie bis 25mm? 80 tuhafen
OCL Material |General}_ 8WI.4624-4 A2V00000203018 | Dropper clip 120 hangerkleTm 3.500] Luhafen
OCt Material iGeneral] — 8W1.4647-2 |A2V00001377806 _|Guy clamp contact wire-catenary wie |Vemmdun—gskiemrner=arn‘c|ram-'l'raqsed 1 60 Luhafen’ T
OCL MateniatGeneral| BWL4655-1 1A2v00000203044 _ |Wire clip 50 Serlschelle 5¢ I 235 Luhaten
OCL Materiat (General) |8WL5006-1A A2V00001035068 |Adjusting sirap for lensioning device |Einstelllasche for Radspanner | 60 Lunafen
OCL Material (General) |8WL5078-0C A2V00001452207 |Tension wheel assembly up to 2dkN |Radspanner bis 24kN | 90 ST Luhafen
OCL Materiat (General) 8WL5100-O DBB 081006X-02  |A2V00000200334 |Weightd=200 h=60 12.5k9 |Nachsgannqewichl d=200 h=60 125kg | 50 ST Luhaten
OCL Materiat {Generaly —[8WL5101-0_DBB:081006X.01___|A2V00000200333 _|Weightd=203 h=120 25kg INachspanngewichi d=203 h=120 25kq 205 ST |Luhaten
OCL Material {General| 18BWL5102-0 ©BB:081006X-04  |A2V(00000200336 |Weight d=300 h=26 12.5ka Nachspanngewicht d=300 h=26 12.5kg 325 ST Luhafen
OCL Material {General| {8WL5103-0_DBB:081006X-03  |A2V00000200335 [Weight d= =300 h=53 25ka Nachsgannqewmhl d=300 h=53 25kg | 1,200 1 ST Lu'hafen
OCL Material (General} 18WL5154-0 DBB:20200181800 |A2V00000200674 | Support bar M22x1800 with washer and |Gewichtsstange M22xt800 mit Scheibe ul 45| ST Luhafen
OCL Material {General 18WL5155-0 A2V00000203118 _[Support bar M22x2000 wilth washer and IGewichisstange M22x2000 mil Scheioe U] 16] ST |Luhafen
OCL M ! (Generalj 18WL5160-0 A2V00000203120 1Eguahzmg pulley 75 {miCl) with _ISeilroile 75 (GTW) mit Laschen (St-tZn) I Luhafen
OCL Material | Generail _BWLE162-1A A2V00001405858 _|Pulley 98 wilh Cievis. Seilole 98 mit Gabel 90 ST |iuhafen E
OCL MaterialiGenerai 18WL567-5 A2V00001177189 _|Guy Clevis with puliey & Abspanngabel mt Seirolles 450 ST |luhafen i
OCL MateriatiGenerati —8WL5170-0 DBBI0BT003A  |A2V00000200330 _|Clamp 26 for susport bar 26 Schelie fur Gewichtsslanse 26 60 T |Luhafen
OCL Materiat/General| 18WL5517-5C A2V00001801600 _[Section insulator 1.5 kV DC Streckentrenner 1.5 kV DC 30 T Lu'hafen
OCL MatenalGenerall _ 8WL5533-0 A2V00000203219 [Setting loopAC-120 Einsteilbige! AC-120 101 T Luhafen
OCL Material iGeneral} [BWL5545-7A A2VO00G1160177 _ |Lightweldht section insutator up 10 3kV Leichlbau-Streckentrenner bis 3kV DC__ | 18 ST |uhafen
OCL Material ‘General; |8WL5546-1 A2V00000203256 | Section insuiator 1.5kV with insulating Steeckentrenner 1,5k V mit Isclierkufen 10 ST Lu'hater
OCL Material {General} |8WL5546-3 _1A2v00001750726 |Section insulator 1.5kV with insulating ¥ IStreckentrenner 1.5k V mit Isolierkufen S ST Lu'hafen
{OCL Material : Generall 18WL5548-4D A2V00007158224 | Tumbuckle M8 L=180-240 for section Sbannschioss M8 L=180-240 nrSt fur 80l ST |tluhafen
OCL Materiat i{Generall . |BWL6134-4 A2V00001215400 |Disconnectcr wath composite insulators Trennschaiter mit Verbundisolatoren 12 ST Lu'hafen
OCL Materiat {General} 1BWL61344A — 1A2v00001714023_ IDisconnector with composite insulators Trennschalter mit Verbundisolztoren 15 ST |Luhafen
OCL Mater:at ‘General} BWLB135-2A A2V00001215568 |Support for disconneclor. stainless steel Konsole fur Trennschalter 13 ST Luhaten
OCL Materiat !General} 8WLB136-0 A2V00001860356 | Rotation angle sensor unit 24V for disconnectors 8 WLEE134|Drehwinkelsensoreinhieit fuer | 6 ST Luthaten
CCL Material :General| 8WL6214-1 A2V00000203424  |Manuat operating mechanism stroke 200mm Handantrieb, Hub 200mm, G-Al ! 24 ST |Luhalen
1OCL Material [Generat] 8WL6E215-0 A2v00000203426  |Padlock with 2 keys for manuat Verhidngeschioll mit 2 Schlasseln far | 18 ST Lu'hafen
OC{, Material |General’ 8WL6221-2_DBB:059612A A2V00000206340  [Clevis end fitting 26, compi. Gel tck 26 mit Gabel, kompl. 600 ST Lu'hafen
OCL Matena! iGenerail 8WL6225-2 A2V00000203459  [Tongue end fitting 26 offset, compi. Gelenkslick 26 mit Auge einseiig. kpl. | 26/ ST Lu'hafen
OCL Material iGeneral 1BWL6227-2A A2V00001396638 _|Locking plate, htgSt |Vernegelungsplatte, St-tZn | 8 ST __ |Luhaten’ S
(OCL MateriaiGenerali 18WL623%-6 A2V00000203472 _|Fitting for operaling jinkage |Gelenkstick fur Schaiter gesténge 26 ST Luhafen =
OCL MateratGeneral| ____8WLg247-8A A2V00001000731 __|Guide for operating tube 26 |Gestangefonrung 26 mit Gewinde M16 | 180 ST Luhafen
OCL Material \General; 8WLE503-7A A2V00001140237 [Voltage limiter with wire 50mm2 for fastening on pole or staiSpannungssicherung mit Seil SOmm? {Or | 20 ST Luhafen
OCt Material {General} 8WLE504-6 A2V00001184630 _|Voltage limiter eilement 350V DC lightning resistant |Sicherungseinsatz 350V DC | 20 ST ILu'hafen ==
OCL Material {General} 8WLE538-0 A2V0000104670C i Surge arrester for OC 1V 10kA Uberspannungsableiter for DC 1kV 10kA | 21 ST Lu'hafen
OCL Material {Generall 8WL6730-5 A2V00000203602 | Cable strap for 1 cable d=20-24mm Kabeltrager fur 1 Kabe! D=20-24mm 85| ST ltwhafen
OCL Material (General: BWL67305 A2V00000203610 | Cable strap for 1 cabie d=25-30mm Kabelirager fur 1 Kabel D=25-30mm | 1351 ST lkuhafen
OCL Matenal {General; 8WLE731-6 A2V00000203613 |Cable strap for 2 cables d=25-3Cmm and |Kabettrager fur 2 Kabel D=25-30mmund | 1254 ST |Luhafen
OCL Material {General BWLE732-6 A2V00000203617 | Cabte strap for 4 cables d=25-30mm and [Kabetrager fur 4 Kabel D=25-3Cmm und | 10 ST llu'hafen
OCL Material {General! 8WL6E743-0 A2v(00000202633 |FPunch-lock band 19x1 0 {reel L=30m) |Spannband 19x1,0 {Rofe L=30m) 1.500 M |Lu'hafen
OCL Material (General “lawiera8-0 A2V00000203637 _!Loop 20, Stainless steel |Schiaufe 20. nrSt _l 1500 ST tuhafen
OCL Material (General 8WLE748-6 |A2V00000203640 _|Lock for punch-lock band, adjustable Verschlu} fur Spannband, verstelivar 180 ST |Luhafen —
OCt. Material |General 8WLE751-0 [A2V00000203642 | Punch-lock band for 1-3 cables £=33C, polvamide. black _[Spannband fur 1-3 Kabel L.=330 __10] ST Lu‘hafen
OCL Matedal iGenerals \WL7024-0 |A2V00001 058330 |$olldw1re d=1.38mm flexible Stahidraht d=1.39mm flexibet 50 M Lu'ha_fen
OCL Malerial |Géneral'- WL7060-2_DBB:200101X-09 | A2V00001200194__[ Wire 10x49, . Bronze | Seit 10x42-82 5 500 M Leoni, 3201836389
OCL M | |Generati WL7076-0_DBB.200101X-19 [A2v00000200603 Iwire DIN43138 - €-Cu - 120x336 Seil DiN43138 - E-Cu - 120x336 1,600 M Isodraht, 3201836430
OCL Material {General: BWL7090-0_DBE:200102X-03 rA2V0000020061D 'Steei wire 50mm? ¢=9.5mm Elamsexl 50mm*d=9,5mm I, 1.100 M Luhafen =
[OCL Matenal Generall 8WL7080-0C 1 A2V000011551865 |SteMn= (d=9.5mm)L=75m_ tahisedl 50mm? (d=3.5mm) L=7, 5m 100! ST Luhafen .
OCL Material |General| 8WL70916 —_ |A2V00001071757 _|Wire 12 EN 12385-4 6x19M-WSC 1770 8 sZ —_|Seii 12 EN 12385-4 6x19M-WSC 1770 B 18001 M ILuhafen
‘OCL_M_ateriaI iGeneral 8WL7093-2_DBB:200101X-31 A2V00000200604 | Stainless steeiwire rope g=6mm__ __|Drahtseil mt Stahlitzeneiniage d=6mm 4.100/| M Lu'hafen_ § -~
|OCt. Material |General] BWL7093-3 [A2V00000203731 | Stainless steefwire rope d-8mm Drantseil mit Stahlitzeneinlage d=8mm 165001 M Luhafen = =

Siemens pic

Mobifity Complete Transpodation

Edinburgh Tram Network 110415_Inventory-List_Vesting(AEN.xis
Axet Eickhom printed: 15/04/2011 18:57

SIE00000393_0017



Details CCL Material

Category BWL AV Description - English | Description - German Ordered Unit Supplier
ggt Material ;(G;e"::e:) ﬁWL7097 0 _A2V00000203736 | Syntnelic wire {Minoroc-wire) d=9mm _Kunslsleseil_(Mirﬁgc) d=9mm ) 500 ™ Luhaten t—————
eneral) 8WLB025-3 _A2V00000203909 | Axie for underbrigde support__ /Achse DIN1443-B16R11X210x195x5-A2 10 ST Luhafen
OCL Material (Generat| ~1BWLB025-4 A2V00800203910 |Support angle Befestiqunaswinkel | 18 ST Lu‘'hafen
OCL Materiat (Generat; 1BWL8025-5 A2V00000203311_ |Fastening plate, GF-UP pul Befestigunasplatte | 10 ST |Luhafen
OCL Material (Generaij 18WLB0256 _|A2V00000203912_|Puttey for 1 wire up to 185mm* Seirolle fur 1 Seil bis 185MM™ | 18] ST |Luhafen S
OCL Materia} (Generaf) 18WLB025-7 A2V00000203813 ISpacer tupe D2=31, Di-16.5. L=20.5, polyamide 'Distanzronr 6. 5x31x20.5 | 36 iC Luhafen =,
OCL Material | Genera) 18BWL8037-1 A2V00000203927 | Tensioning spring 120 L=1045-1205 Nachspannfeder 120 L=1045-1205 16 T |tuhafen
(OCL Malerial : Generaly |8GS:576.141 1/ B531003A02__|A2V00001221724 | Feeder clamp 80-150/1xM12_ Speisekiemme 80-15071xM12 425 T |RiBe, 1824413
OCL Materiat iGenerati 0BB 0454420 A2V00000204848 |Parts for pole anchor Einzeteite Rir Mastanker 235 ST Luhaten
OCL Material | General) DEBO5S601A A2V00000200176__|Ctevis end fiting 55 compl. clAL | Gelenkgabel mit Rohranschiuss 85 | 52| ST |Luhafen
OCL Material iGeneral) DBB.059887X-01 A2V00000200243  [Rod Zugstange M20x190-A2 1 90| ST |Lihafen
OCL Material IGen_eraI) DH1:260360 _IA2v00001106408 |Dowel HPS-1R6/15x40-A2 Schiagdiibel HPS-1R6/15x40-A2 | 100 ST Hilti, 3201851930 -
OCL. Material [General) |DHi:260363 A2/00001288484 _ [Dowet HPS-1 R8/10x40 PE Schiagdibel HPS-1 R8/10x40 300 ST |Hit -
OCL Material |General) DH!:387092 A2v00001847374 Grout HIT-RE 500-S0/330/1 injektionsmoertel HIT-RE 500- SD/2307% ST  IHilti
OCL Material (General) | DIN:125-A06.4-A2 A2V00000200769 Washer DIN125-A6.4-A2. Stainiess steet ~ | Scheibe TIN125-A6.4-A2 40 ST Luhafen
OCL Matena {General} DIN:125-A08.4-A2 A2V00000200770 | Washer DiN125-A8 4-A2. stainless steel Scheibe DIN125-A8.4-A2 — 40 ST |Luhafen
OCL Material (General| DIN:125-A10.5-A2 1A2V00000200771 | Washer DiN125-A10.5-A2 IScheibe DIN125-A10,5-A2 "7.300| ST |tuhafen
OCL Materiai (General} _|DIN:125-A13-A2 A vo_0000200773_|vmr DiN125-A13-A2 'Scheibe DIN125.A13-A2 360 ST  |Luhaten —:
OCL Material {General) DIN:125-A17-A2 A2V00000200775 | Washer DIN125-A17-A2 IScheibe DIN125-A17.A2 1.250[ ST |Luhafen
OCL Material {General; [DIN:125-A21.A2 AZV00000200778 _|Washer DIN125-A21-A2 Scheibe DIN125-A21.A2 5050 ST |tunafen =1 S
OCL Material |General) IDIN:1471-05X032-A2 A2V00000200829 | Grooved pin DIN1471-5x32-A2, slamiess steel Keaelkerbstift DiN1471-5x32-A2 52 ST Luhafen
OCL Material {General) DIN: 1473-06X020-A2 A2V00000200834 _|Grooved pin DIN1473.6x20-A2 yiinderkerbstift DIN1473-6x20-A2 250 ST |tuhafen —1
OCL Material (General) DIN:1481-08X060-A2 A2V000002008568 | Prestressed sleeve DIN1481-8x60-A2 ~ ISpannstift DIN1481-8x60-A2 2,100 ST Luhafen
OCL Materiat {General DIN:1481-08X070-A2 A2Y00000200857 | Prestressed sieeve DIN1481-8x70-A2 ~ISpannstift DIN1481-8x70-A2 170 ST |Luhafen
OCL Materiat {General DIN:3016-1-A1-22X25-W4  |A2V00001355308 Clamp DIN 3016-1-A1-22x25-W4 'Schelle DIN 3016-1-A1-22x25-W4 850 ST HS Befestig.
OCL Material {General i I_:)IN:3016-1-A1»25X55VV21 A2V00001852808 _ [Clamp DN 3016-1-A1-25x25-W4 |Schelle DIN 3016-1-A1-25x25-W4 85 ST HS Befes.llq..
OCL Material {General} OIN:46235-12-150-CU-S A2V00001087200 .Cable lug OIN46235-12-150-Cu-S |Kabelschuh DIN46235-12-150-Cu-S 750 ST agemeyer
OCL Matetial {General} DIN:551-M1 6X050:ﬁz A2V00000200962 | Siotted set screw DiIN5S51-M16x50-A2 |Gewindestift DIN551-M16x50-A2 22500 ST |luhafen
OCL Matena! (General) DIN:7349-21-A2__ A2V00001112146 [Washer DIN7349-21-A2 |Scheibe DIN7349-21-A2 900 ST Lederer 1824424 _
OCL Materia! {Generat) DIN:9021-13-A2 A2V00000201066 _ Washer DIN9021-13-A2. stainless steel Scheibe DING021-13-A2 20 ST Luhafen
OCi Malerial General) DIN:9021-17-A2 _|A2V00000209312__Washer DING021-17-A2 ‘Scheibe DING021-47-A2 60 ST ILuhafen
OCL Material {Generat) DIN:931-M06X040-A2-70 A2V00000201078 Hexagon boit DING31-M6x40-A2-70, special fubricant on wiSechskantschraube DING31-MBx40-A2-7: 0| ST |Luhafen
OCL Materia} General) DIN:931-M16X130-A2-70 A2V00000201110 Hexagon boit DING31-M16x130-A2-70, special lubricant on Sechskantschraute DINS31-M16x130-Az __10 ST __ILuhafen
|OCL Materiat (General] DIN:931-M16X160-A2-70 A2V00000201112__IHexagon bolt DING31-M16x160-A2-70 |Sechskantschraube DIN931-M16x160-A’ 120 ST Lu‘'hafen
OCL Material (General} DIN:533-M10X020-A2-70 A2V00000201150 Hexagon bolt DINS33-M10x20-A2-70 |Sechskantschraube DIN933-M10x20-A2- 120! ST Lu'hafen
OCL Material (General) DIN:933-M10X030-42-70 |A2v00000201154 |Hexagon boll DIN933-M10x30-A2-70. special lubricant on d Sechskantschraube DIN933-M10x30-A2- 20] ST Lu'hafen
CCL Material (Generat) IDIN:933-M10X035-A2-70 A2V00000201156 | Hexagon bolt DING33-M10x35-A2-70 Sechskantschraube DING33-M10x35-A2- 130 ST iLu'hafen
OCL Material (General| IDIN:933-M10X040-A2-70 A2V00000201159 | Hexagon boit DIN933-M10x40-A2-70 Sechskantschraupe DIN933-M10x40-A2- 196 ST Luhafen
OCL Materiat (Gener 2| DIN:933-M10X060-A2-70 A2V00000201165 | Hexagon boit DIN933-M10x560-A2-70 ISechskantschraube DINS33-M10x60-A2- 3.350 ST Lu'hafen
OCL Maleriat (General) DIN:933-M12X025-A2-70 A2V00000201174  Hexagon bolt DIN933-M12x25-A2-70 ISechskantschraube DING33-M12x25-A2- 20 ST Luhafen
OCL Materiai {General) DIN:933-M12X030-A2-70 A2V00000201376 _Hexagon boit DIN933-M12x30-A2-70. special lubricant on slSechskantschraube OIN933-M12x30-A2- 20! ST Lu'hafen
OCL Material {Generali DiN:933-M12X040-A270 1A2V00000201181 _[Hexagon bolt DIN933-M12x40-A270 |Sechskantschraube DING33-M12x40-A2- 250 ST 'Luhafen
OCL Material iGeneral} DiN:933-M12X045-A2-70 | A2Vv00500201183 |Hexaqon bolt DING33-M12x45-A2-70 |Sechskantschraube DINS33-M12x45-A2- 40 ST |Luhafen
OCL Material iGeneral) |DIN:933-M16X025-A2-70 |A2V00000201199  IHexagon bolt DING33-M16x25-A2-70 | Sechskantschraube DIN933-M16x25-A2- 50 ST lLuhafen
CCL Materia! {Genera}) IDIN 933-M16X030-A2-70 |A2V00000201200 :Hexagon bolt DING33-M16x30-A2-70 Sechskantschraube DIN933-M16x30-A2- 140 ST |Lurhafen
OCL Materiat {General) DIN:933-M16X040-A2-70 [A2V00000201205 Hexagon boit DING33-M16x40-A2-70 | Sechskantschraube DIN933-M16x40-A2- 145 ST Luhafen
OCL Material |Generall DIN:933-M16X045-A2-70 'A2V0C000201208  Hexagon bolt DING33-M16x45-A2-70 |Sechskantschraube DIN933-M16x45-A2-1 2,400 ST Lu‘hafen
OCL Material {Generali __IDIN:933-M16X050-A2-70 _|A2VG0000209330 ! Hexagon bolt DIN933-M16x50-A2-70. special lubricant on £ Sechskantschraube DIN933-M16x50-A2- 20 ST Luhafen
OC. Material (General) F = DIN:933-M16X06C-A2-70 A2V00000201213 [Hexagon bolt DING33-M16x80-A2-70, special Iubrscanl-on-: Sechskantschraube DING33-M16x60-A2- 32| ST |Luhafen
OCL Material (General| OIN:933-M16X090-A2-70 A2V30000201220 Hexagon bolt DING33-M16x90-A2-70 Sechskanlschraube DIN933-M M16x80-A2- 250 ST ILu'hafen
OCL Materiat (Generalj DIN:933-M16X100-A2-70 A2V00000201222 “Hexagon bolt DIN933-M16x100-A2-70 'Sechskanlschraube DIN933-M16x100-Ax 65 ST Li'hafen
OCL Matenai {(Generall DIN:933-M20X075-A2-70 1A2V0000020123% Hexagon boit DIN933-M20x75-A2-70 ISechskantschraube DINS33-M20x75-A2- 685 ST Luhafen
OCL Material ;General] DIN:933-M20X140-A2-70 |A2V00000209340 Hexagon boit CIN933-M20x140-A2-70 |Sechskantschraube DING33-M20x140-A2 10 ST Lederer 1824424
|OCL Material [General| DIN:934-M06-A4-70 |A2V00000201235 _ |Hexagon nut DING34-M6-A4-70, stai steel, speciat lub.Sechskantmutter DING34-M6-A4-70 20 ST tu'hafen
[CCL Materia! (Generali IDIN:934-M08-A4-70 A2V00000204237 _'Hexagon nut DINS34-MB-A4-70, stainiess steel, soecial lub Sechskantmutter DIN934-M8-A4.70 32 ST Lu'hafen
10CL Materiat i Generall IDIN:934-M10-A4-70 A2V00000201242 Hexagon nut DING34-M10-A4-70 iSechskantmutter DIN934-M10-A4-70 7,100 ST Luhafen
OCL Malerial |Generai) |DIN:934-M12-A4-70 A2V00000201245_|Hexagon nut DIN934-M12-A4-70 ISechskantmutter DING34-Mi2A4-70 | 510 T |Luhafen
OCL Materiat {General| DIN:934-M16-A4-70 [A2V00000201248 Hexagon nut DINS34-M16-A4-70 |Sechskantmulter DIN934-M16-A4-70 | 780 ST |Luhafen
OCL Materiat |Generall DIN:934-M20-A2-70 IA2V00000201252 Hexagon nut DIN934-M20-A2-70 |Sechskantmutter D#%E24-M20-A2-70 | 9,300 ST __|Luhafen |
OCL Material |General} OIN:963-M16X025-A2 1A2Vv00000201273 _|Countersunk screw DINS63-M16x25-A2 ISenks chraube DAFEED- W HER15-A2 | 20 S Luhafen [P
OCL Materiat |General) 1) |DIN'G76-BM12X330-A2-70 ____IAZV00000201289 | Threaded p in DIN976-B8M12x330-A2-70 |Gewndebolzen T hi (1-BM12x330-A2-7. 40 ST |Luhafen
OCL Material (General |DIN:976-BM16X200-A2-70 A2v00001072588 | Threaded rod DIN976-BM16x200-A2-70 ‘Gewindeboizen DING76-BM16x200-A2-7C 50| ST |Lederer 1824424
IOCL Matertal (Generall DIN:976-BM16X240-A2-70 ____|A2V00001293086 | Threaded pin DING76-8M16x240-A2-70 TGewindeboizen DIN976-BM16x240-A2-7: 20| ST |Lederer 1824424
[OCL Materiat (Generall DIN:976-BM20X380-A2-70 A2V00001091848 | Threaded pn DING76-BM2Cx380-A2-70 Gewindebolzen DIN976-BM20x380-A2-71] 80 ST Luhafen
Siemens pic
Mobility Complete Transportation
110415 _Inventorgist_Vesting(AEN).xis

Edinburgh Tram Network
AxelEickhom

printed. 15/04/2011 16:57

SIE00000393_0018



Details OCL Matenal

Category SWL A2V | Description - English Description - German | Ordered Unit Supplier

OCL Material (Ceneral : DIN:976-BM20X400-A2-70 ___ |A2V00001091849 [Threaded pin OING76-BM20x400-A270  Gewindebolzen DING76-BM20x400-A2-7  1.520| ST  |Lederer 1824424 )
OCL Material |General} OIN.976-BM20X480-A2-70 A2V00001671681 |Threaded Eln_D_IN_Q?S BM20x490-A2-70 |Gewindebelzen OING76-BM20x430-A2-74 315 ST Lederer 1824424

|OCL Materia! (Generall ___|DiN:976-BM20X550-A2-70  |A2V00001146369 | Threaded pin DING76-BM20x550-A2-70 'Gewindeboizen DIN976-BM20x550-A2-7( 20| ST [Lederer 1824424

[OCL Materiai (General] DSN:101150 A2V00001108350 | Earthing rods, 1-pole [Erdeinfohrungsstange D. 16 mm 10| ST __iDemn

OCL Material {General| E596 A2V00001849848 | Halfen-mounting rail HL28/15-A4-50 THalfen-Menlageschiene HL 28/15-A4-500 Bl ST [fener

OCL Materia!l ‘General) \GE20UK-2RS LA2V00001133530 |Radial spherical pfain bearing T |Radial-Gelenklager 4] ST |Max Lamb

[OCL Materia! {General) HEL111-92160 A2V00001873217 | Cable tie 430x7.0 TKabeibinder 430x7.0 2000] ST |HellermannTvion

OCL Material {Generat) HF N HS50/30-M16X040-A4-50  A2V00001081579 | Screw HS50/30-M16x040-A4-50 incl Aut |Halfenschraube HS50/30-M16x040-Ad-57 75| ST _|HS Befestig.

OCi. Materia! . General) _ K274 A2V00001856754 | Telescopic cap TSW 55-1-G121 [Teleskopkapoe TSW 55-1-G121 620! ST _lUirich Scholz

OCL Material (General) 275 A2V00001856753 _[Screw protection cap SW 65-1-G123 Schraubenschutzkappe SW 65-1-G123 1,050, ST _ [Urich Scholz

OCL Material (General) ESS6 p— A2V00001904163 _|LIN:HB12-1-GALZN _______[Hollo-Bot HB M12x60 80|

OCL Material (General) PARRB-36G ¥ A2V00001298469 _|schwarz PARRB-36G ¥
OCL Material (General) PARRB-70G A2V00001105895 | PARRB-70G PARRB-70G 1201 M | Reku 1824436

OCL Material (General) _ PGE:GPN270-R-12060-3 A2V00001814418 _|Stopper reclangular 120x60x3 Rechteckstopfen 120x60x3 60 ST Pappelmann

OCL Materisl {General) . 1S576 A2V00370071757 _|Halfen screw HS 28/15 M8x25 4.6 GV __ —__[Halfenschraube HS 28/15 M8X25 4.6 GV 144] ST  TPfeiffer

OCL Matenai (Generai} 5DF2203 A2V00001070335 |special rubber-nsutated wire Sonder-Gummiaderleilung 9,100 M Prysmian
[OCL Materiat {Generai} N2X2Y-Q 1X150 0.6/1KV A2V00001875102  [Cabie N2X2Y-O 1x150 RM 061 (1.2)KV [Kabel N2X2Y-O 1x150RM 061 (12)xV] 800 M |Prysmian
LOCL Materiat {General} RAY:MWTM-35/12-1000/172-0  |A2V00001118181 _[Shrink hose MWTM-35/12-1000/172.0 ' Schrumpfschiauch mit Kleber, 310 M Rayauick. 500509
{OCL Material {General) RAYMWTM-95/29-10007172-0 _[A2V00001104871 _|Shrink hose |Schrumpfschiauch mit Kleber, 50| ST |Rayquick, 500509
jocLm Alu Tubes L=8.0m 8WL2161-0 DB8: 0_DBB:202016X-01 A2V00001162099 X Aluminium tube 26x3.5 DIN EN 755 L=8.0m IAIum\nsumrohr 26x3.5 DIN EN 755 L=8.0r 320 M Weseralu, 3201837457

OCL i3l Alu Tubes L=8.0m 1BWL2165-0_DBB:202016X- 02 A2V0000%162100_ | Aluminium lube 42x4.0 DIN EN 755 L=8.0m |Aluminiumrohr 42x4,0 DIN EN 755 L=8.04] 320 M Weseralu, 3201837457

JOCL Material Alu Tubes L=8.0m 8WL2167-0_DBB:202016X-03__ |A2V00001162101_|Aluminium lube 55x6.0 OIN EN 755 L=8 Om 1., |Aluminiumrohr 55x6.,0 DIN EN 755 | =8.04! 8.200. M Weseraiu, 3201837457

OCL Materiat Atu Tubes L.=8 Om 8W12170-0_DBB:202016X-04  |A2V0000162102 | Aluminium tube 70x6.0 DIN EN 755 L=8.0m Aluminiumrohr 70x6,0 DIN EN 755 L=8,01} 536 M Weseralu, 3201837457

{OCL Materiat Constructions (steel components; | D.0215-EL-J4211-C001 A2v00001837702 | Connection angle PR Anschlusswinkel _ 221 ST |Sudform neu

OCL Material Conslructions (steel components _ D.0215-EL-J4211-C002 A2V00001902631 _ |Connection angle track side cabinet | Verbindungswinkel fur 16 ST Si:dform_neu

OCL Material Constructions (steel components; D 0215-EL-J4211-C003 A2V00001902629 _ |Connection plate track side cabinet Verbindungspiatte fur 10 ST Stidformn _neu

OCL Material Construclions (sleel compornents; D.0215-EL-J4211-E001 A21/00001814812 _|Hook end clamp for GRP steady arm |Geienkhaken figr GFK Seitenhaiter 1.520 ST |Sudform _neu

OCL Material Canstruclions (steel componenis! __|D.0215-EL-J4211-E002 A2V00001833912 _[Packerfor strainreliet(1 cable) _|Einage tir Zugentiastung| {1 Kabel) 71| ST ‘|§udform neu

QOCL Materiat Constructions (steel components|  |D.0215-EL-J4211-E003 A2v00001833741 IPackerfor strain relief (2 cables) _ |Einlage for Zugenliastung (2 Kabel} 36 ST _..Sud orm_neu

{OCL Malerial Constructions (steel components)  [1D.0215-EL-J4211-E004 A2V00001833742 Cover i |Abdeckung ¥ ! _.56! ST Suc orm_neu

OCL Malerial Conslructions i sleel components) 0! _1A2V00001833743__[Fixingfor cover Befestigung fur Abdeckung 55, ST |Sudlorm neu

IOCL Material Conslructions isteel components)  [D.0215-EL-J4211-E008 A2V0C001868041  [Cover for spherical plain bearngs Decke! fur Gelenklager 61 ST |Sudform neu

'OCL Material Conslructions (sleel components)  10.0215-EL-J4211-E007 A2V00001876305 _ |U-bolts M8 Bigelschraube M8 25] ST Sadform neu

OCL Material Construclions steel components)  |D.0215-EL-J4211-£008 A2V00001877089 [Suspension strap Aufhéngungslasche 63] ST Sidform neu

OCL Material Constructions {steel components)  |0.0215-EL-J4211-KOG1 A2v00001833745 IStopper reclanquilar for cabie guide Rechteckstopfen fur KabelfGhrung s8] ST Sugferm _neu J
OCL Material Constructions (steel components) D.0215-EL-J4211-S001 1A2v00001814783 [ Connection strap for backstay anchor Verbindungslasche fir Mastanker 447 ST |Sudform_neu i
OCL Materiat Constructions (s'teel components) D.0215-EL-J4211-S002 A2V00001835541 | Fixing part for puil-off |Befestiqungsteil fiir Bogenabzug | 17 ST Sadform_neu

OCL Material Constructions (steel components)  |D.0215-EL-J4211-S003  |A2v00001315458 Tube clamp Rohrhaiter | 11 ST |Sudform_peu

OCL Malerial Constructions (steel comoonents) | 0215-EL-J4215-E001 A2V00001854896 _|Eye screw M16x240 (welded) Osenschraube M16x240 {geschweilth 130 ST |Stdfonn

IOCL Material Constructions (steel components) D.0215-E1-J4215-S0031 A2V00001814813 _ [Bracket for overhead contact line Universalbefestigungsteil | 11571 ST Sudform_neu

OCL Material Construclions (steeicomponenls) |0.0215-EL-J4215-5003 A2V00001814815 |Fixing part for backstay anchor | Befesligungswinkel fir Maslanker i 80l ST Sudform_neu

CCL Materia! Construc¥ons (steel components| D 0215-EL-J4215-S004 A2V00501837703 I'Fixing part for surge arrester Befestigungsterl fir I 200 ST S?dform neu

OCL Materiai Constructions isteel componen¥%| _ 1D.0215-EL-J4215-S00S |A2vV00001838201 "Drop bracket under bridges Hangesaule unler Bricken 1 B ST .SL“;dfonn neu

OCL Materiat Constructions isteel comgonents! D.0215-EL.-J4215-S006 [A2V00001840000 _Fixing partfor linkage Befestigungsleif fr Gestangefihrung 85, ST St_mform neu

OCL Materiai Conslructions isteel components; D.0215-E{.-J4215-S007 A2V00001859008 Iweight set 400 kq Gewichtssatz 400kg 30 ST Sgdform

OCL Material Construclions /steel components. _|D.0215-EL-J4215-S008 A2V00001870563 _ |Drop bracket under work shep door |Hangesaule unter Depothalientor 11 ST __ S?dform ney S —
OCL Material Construclions (steel components! | D.0215-EL-J4215-S009 A2V00001878456  |Fixing parts for inkage in workshop | Befesligungsteit fir Gestangefuhrung 32 ST St:drorm ney

OCL Material Construclions (steet components)  [D.0215-EL-J4215-S010 A2V00001876459 | Rracket for locking "o ______|Befesligungsteil fir Verriegelung 8 ST Sgdfon-n ney

OCL Material Constructions (steel components) 10,0215-EL-J4215-S011_ _1A2V00001915457 _Cover for voltage limiter Schutz fiir Spannungssicherung o ST _Sidiom peu
JOCL Malerial Conslructions (steef comoonents, 0.0215-EL-J4215-S012 A2V00001916386 _IFixingpart for control box Befestigunastei fur Kontrolbox 61 ST S(_deorm neu

OCL Material Constructions rsteel comp onents} 0.0215-EL-J4221-S001 A2V00001822948__ jAngle 80x80x10 . B | Winkel 80x80x10 15 ST Sudform_neu —t
OCL Material Construclions jstee! components; D 0215-EL-J4221-S002-A A2V/00001840002 _ |Fixing angle for puil-offs Befeshgungswmkel fur Bogenabzige 1 ST Su_dform _neu

OCL Material Constructions {steel components 0.0215-€1-44221-S002-8 ~|A2V00007840058 _[Fixing angle for puli-offs Befestigungswirkel fur Bogenabzuge 1 ST §udform neu

OCL Material Constructions jsteei components; D.0215-EL-J4221-S003 A2Vv00001868199 _ |Angle 80x80x10x220 i — Winke! 80x80x10x220 6 §T ugoform neu

OCL Materiai Conslructions rsteel components; D.0215-EL-J4221-S005 A2V00001876461 _|Fixing angle for fixed temination Betestioungswinkel fur feste Abfangung 6 EW_ \'mform neu
LOCL Materiai Conslructions steel components; | D.0215-E1-J4225-S001 A2v00001869475 [Clamp angle |Klemmwinkef 35 ST udform_neu

OCL Material Constructions isieel components)  |D.0215-EL-J4251-E001 A2V00001868042__|Cistance tube for spherical piain [Distanzrohr fur Gelenkage 4] ST [Sudform_neu

OCL Material Constructions isteel components)  |D.0215-£L-J4251-E002 A2v00001868043 | Distance tube L=60mm for spherical Distanzrohr L=60mm tir Gelenklager 4 ST St_zdfonn neu

OCL Material Constructions {steel compo_neﬁlsz 0.0215-EL-44311-S001 A2V00001814876 |Bracket t for double cantilever . [lTraverse 1 tur Doppefausieger 181 ST Stdform_new .
IOCL Material Corstructions !steet companents) (D.0215-EL-J4311-5002 A2V00001814877 _|Bracket 2 for double cantiever Traverse 2 fir Doppelausieger 64| ST _ [Sudform neu

OCL Material Constructions |steef components)  1D.0215-£L-J4311-S003 A2v00001822949 | Bracket 3 for double cantilever Traverse 3 fir Doppelausleger 10| ST Sﬁtorm neu

OCL Materiai Consiructions (steel components) _ |D.0215-EL-J4311-S004 [A2v00001822350 Bracket 4 for double cantilever __|Traverse 4 fur Doppelausleger a4l ST S?dfonn ney

OCL Materiat Constructions (steel components) D.0215-EL-J4311-S005 1A2v00001822951 | Support for cantilever swivef bracket |Stotze fur Ausleger-Gelenkbock 15) ST Sgdfonn neu |
QCL Materiai Constructions (steel components) D.0215-EL-J4311-S006 |A2V00001838702 |Bracket for disconnector Konsole fir Schaiter am Stahlrundmast 16] ST Sudform _neu ]

Siemens pic

Mobility Complete Transportation
Edinburgh Tram Network

Axel Eickhom

110415 _Inventory-List_Vesting{AEL xis
printed: 15/0472011 1657

SIE00000393_0019



Details OCL Material

| sWL.

Category A2V Descriptior - English Description - German Qrdered Unit Supplier

OCL Material Constructions (steet components’  10.0215-£1.-J4311-5007 A2V00001840061 _[Bracket 5 for double cantilever ______|Traverse S fir Doppelausieger 4 ST |Sudform_neu

OCL Materiat Constructions {steel componentsi  |D.0215-£L-J4311-S008 A2V00001840057 _ [Bracket for manual operating mechanism Befestigungsteil fir Handantied 18 ST |Stdform neu

OCL Material Cons¥uctions {steel componentsi  1D.0215-EL-J4311-S009 ~|A2v00001868196  |Supoort for bipolar disconnactor Konsole fir Bipotarschalter 3 ST [Siidform neu

OCL Material Constructions (steel components| _ |D.0215-EL-J4311-5010 A2VODC|ERATH [Lever arm Hebelarm “3[___ ST [Sudform_neu_ =
OCL Material Constructicns {steel components)  |D.0215-EL-J4311-S011 A2V00001876463 [ Bracket for disconnector in workshop Konsole fUr Schaiter in Depothalle 8 ST Sirdform_neu

OCL Material Construclions (steel components)  [D.0215-EL-J4341-S012 1A2V00001876464__ [ Bracket for manual operating raechanism workshop Befesligungsteil fOr Handanlieb 3 ST |Sidform_neu

OCL Material Isolators SEFAG |8WL3088-1A 1A2V00001173136 _[Composite insulator 3kV DC L=300 Verbundisolalor 3k DC L=300 447 ST PFISTERER SEFAG 1824411

Ssemens pic

Mobility Complete Transportation
Eginburgh Tram Network

Axel Eickhom

110415_laventory-List_Vesing(AED.xis
piinted: 15/04/2011  16:57

SIE00000393_0020



